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Match the following lists:

A)

B)

©)

D)

ListI

Cell walls with silica, symmetrical. rejuvenatory
spores

Holozoic nutrition, definite growth pattern,
locomotion

Zoospores, fusion of two gametes, endogenous
spores, sporangia

Branched filamentous, radical colonies, cell wall

with mycolic acid
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The correct match 1s
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D)

IT)

I1I)

V)

I)

1)
I1T)

V)

List IT

Actinomycetes

Chrysophyta

Phycomycetes

Animalia
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Question Number : 3 Question Id : 7196501763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the discoveries in ascending chronological order.

=

Discovery of citric acid cycle
Discovery of cell

Laws of inheritance

Book on agriculture and weeds

Discovery of genetic nature of RNA

MM Y 0w

Description and identification of plants
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Question Number : 4 Question Id : 7196501764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In zooidogamous oogamy, the development of zygote into young embryo
takes place within female gametophyte.
Reason (R) : The precursor to seed habit 1s seen in Pteridophytes, which 1s important in

evolution.

RAYBI0 (A) : P& J55) ©@oliloTirisin ot o0l Eelzssin 29:000ir( Blastdeind’S
SROSS T Dol & y& Wotlal.

O (R) : 0o wyds Qrogran S GOEHrS” $deatotuoh. DO ab
S0WIIE.

The correct option among the following 1s
& S0l DRYFTOS LOGHIL

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A).

(A) J00RIR, (R) D600wd& 2005w (A) S0 (R) 008 &8ss,

1. ¢
(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A).

. (A) Doodd, (R) So00ES0 20 (A) 5o (R) 008 2808 5200,
(A) 1s true but (R) 1s false.

L (A) SOosL 2R (R) SO0s& =i,
(A) 1s false but (R) 1s true.

) (A) 0o & 0 (R) SOowsk.
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Match the following lists:

List I List IT List ITI
A) Microphylls 1)  Circinate vernation I)  Selaginella
B) Dwarf and long shoots 11) Heterosporous II) Nonarchegoniate
C) Jacketed sex organs 111) Siphanogamous oogamy  III) Embryophytic and
trachaeophytic
D) Flowers with perianth  1v) Living fossil IV) Dominant sporophyte

&a Solo 2PLITPL 2385500u050.
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The correct match 1s
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Question Number : 6 Question Id : 7196501766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which are the modified parts of cladophylls?

F& 536:) 93056 o3E3 BFarothTrey?

Options :
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Branches of limited growth
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3.
Branches of unlimited growth
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Match the following lists:

List-I List-IT
A. Hypogynous E Inferior ovary
B. Perigynous IL. Superior ovary
C. Epigynous I11. Sepals united
D. Gamosepalous IV.  Half inferior ovary
V. Stamens free

e Sol é@&‘oaﬁa oS w676 M Telorn

$88-1 HEE-T
A woliSToisan L Qad0y, ©oteS Ead0
B. 003008 s IL. &0 @olas Hasn
C. ©ols'§H0pBS0 ML S&&hEw ©hoaingn
D. %0058 CEE0EPSe IV.  ©89:5) ok ¥

V.  ehociug $00°89

The correct match 1s
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Assertion (A) : The inflorescence begin with dichasial cyme but turns as one branch each
time, forming around the node is called verticellaster.
Reason (R) : The pollination of these plants takes place by insects called Blastophaga

and after fertilization the whole inflorescence become a fruit.

RBNBSW (A) 1 Q) DTGP ESN ©F°aral VBB Gols ST s TR VB)Borr Sy
S DEYS9ERR), SRS Wb .
sOasn (R) : &8 S0 0 grFrarmr @ Sée @Pgoe Doied) 50 220, Dubidee
Borgh YR DT° GO0 WoT® DU &STUWD.

The correct option among the following is

&8 S0l YOS DOGRIE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) SO0k, (R) SO0wdt <00ain (A) 30 (R) 008 wdde.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) D0OWIR, (R) 5090038 522 (A) 30 (R) 008 2506 .

2. %

(A) 1s true but (R) 1s false
(A) 300wk = (R) Rbonsd .

(A) 1s false but (R) 1s true

(A) DOoWIE W 3 (R) DoowSd.
4. %
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Choose the incorrect statement.
A. In sporophylls of pteridophytes, the sporangia are seen on the margins of the leaflet.

B. In the water hyacinth, oxygen 1s stored and leading to the death of fish.

9

In Chara, male and female reproductive structures are on the different plants.
D. The mass flowering by Strobilanthus kunthiana blue stretches are seen on tracks by

hilly areas of Tamilnadu.
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Options :
A. B only

) A, B Srega
B. C only

» B. C &Sorghedd
C. D only
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A. D only
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Choose the correct statement among the following:

A) Endothecium with radial thickenings lose water and contract, and help in
nourishing the developing pollen grains.

B) In Helianthus ovules covered by single integument.

& Production of unisexual flowers prevent self pollination in castor.

D) Filiform apparatus guides entry of pollen tube.

E) Zostera a fresh water grass shows pollination on water surface.

B arags” I0T° TPAR 0ouasn.
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Options :
A, B, C only
A, B, C Sgodo

A, C, E only

. A, C,E doeghedo
B. D. E only

- B, D, E gl
B. C, D only

» B, C. D &gl
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What 1s the correct arrangement of the following parts from the lower end in a monocot
embryo axis?

A) Radicle B) Scutellum ) Shoot apex

D) Epiblast E) Coleorhiza F) Coleoptile

G) Root cap
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Options :
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Match the following lists

List-I List-II
A.  Genera plantarum L} Theophrastus
B.  Species plantarum II.  Bentham and Hooker
C. Historia plantarum III.  Hutchinson
D. Families of flowering plants IV. Linnaeus

V.  Engler and Prantl

€1 5ol DU 23BDCGNl:

Le5-1 HEE-II
A B0 oI L ocrarde
B. )00 Fot3GS L o & 086
C. &rYOON oIS I 52595
D. 2000 wd @S0l oSy IV, OR300

V. o:)oﬁa & g“o@@

The correct match 1s

HOAS 29
Options :
A B C D
L II IV III Vv
A B B D
oI 1Y% I III
2.¥
A B C D
IT I 11 IV
3. %
A B C D
1A% IT N I
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Match the type of fruits with the following listed plants.

List-1 List-1T
A)  Arachis I) Capsule
B) Datura II) Pod
C) Asparagus IT) Geocarpic
D)  Pisum IV) Benry

V)  False fruit

&2 $old D s S L T, VG Derw T’ 8NN,

N | grzoe-11
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The correct match is
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Question Number : 14 Question Id : 7196501774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) Polar molecules cannot pass through non-polar lipid layer since they require carrier
proteins.

B) The plant cell vacuole plays role in osmoregulation.

C) Golgi apparatus 1s the site of synthesis of proteins and glycolipids.

D) Plasmid DNA shows resistance to antibiotics.

E) On cell maturation, secondary wall is formed as deposition towards the outside the
primary wall.

OGNS P gD (080w,

A) Gy@Gy o SO muedHLn wdyd D3k w)N) ONG Il WPTe LOITEoSy 738
T8 eI 0S500e.

B)  Sy¥ fmosS G850 SRt SOgus” PSS Fayow.
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Options :

A.B. Conly
., AB.CErg

A, B.D only
. ABDSrgS

B. C, E only
a B, C.E &rga

C.D.E only
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Correct Marks : 1 Wrong Marks : 0
Assertion (A): Lipids are separated into the acid msoluble fraction along with other
polymeric substances.
Reason (R): Cell membranes are composed of lipids and are not water soluble.

Hence. form as vesicles along with acid insoluble pool.

QBYBI0 (A) 1 DG IO ardr et DWPorues” arew sk OWRST oD ertio’s
SOOROLeVERTPON.

0w (R) : Smdgarww @&:c‘i:} 5O @otiboo S, @0 AEIS” E0MY). Pe0dd el BWPSEIoN
(505" E605 §FPeure o) NGeEEow.

The correct option among the following 1s

&2 S0l DRYFUS DOGSE

Options :

(A) 1s true, (R) is true and (R) 1s the correct explanation of (A)

(A) 5880038, (R) H000mS0 SH0050 (A) 5 (R) 088 a8,

(A) is true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) $00wS, (R) $000se 0 (A) & (R) 188 28 96

2. %
(A) 1s true but (R) 1s false
) (A) DO6oNIE R (R) HoowSed s°80.
3.
(A) 1s false but (R) 1s true
(A) J0ouIs W 0 (R) SbwowSéd
4. 8
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The chromosome number of the potato gametes is equal to double the number of the
meiocytes of housefly and thrice the number of meiocytes of fruit fly.

What is the haploid ratio of chromosome number of fruit fly. house fly and potato?

20T P oD Neddri ddusy §ard¥doe QDomyg, Sl LN §FarFn 0oy womgsy
PNV ST Ta v b é}“dﬁ 5"_3} QOIREL §arFaow Qowglo SureoDLEL DIrSdw.

& g, e, WorPEided Solld DEPSY FarFde AS o?

Options :
24:4:6

,x 0:4:24
4:6:24

3. ¢

n 1:2:3
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Identify the tissues based on the following characters respectively.

I) a cell thickened corners by deposition of pectin. hemicellulose
II) phloem 1s present on either side of xylem separated by cambia

IT)  cells with waxy thick layer preventing water loss

IV)  protoxylem towards centre and metaxylem towards periphery of the organ

A) Epidermis B) Collenchyma C) Bicollateral vascular bundles
D) Endarch E) Exarch F) Endodermis

&S L&Erw SelorP Eagruroc (000w,

I Lo PO VIR, TFAVNGT RS SELSGI Hodrow.

1) 8eH 30 gloadiyer FQELERFUL Gobs VeTrag SEPRPR SO0 Bakents eHotuol.
I  Sorew addo Sotd ddeedod Fdw I€ Jer) G GFow.

IV) 5065 Gtoed Soflo SKE0, Botgmmtiog) SO SR Ko erren,

A) g W0 B) rusingroo
O) QOTrd 8PP )08 D) @0 Ddle
E) AR GRS ARV AoVt F) SR ANGPINIY
Options :
I II I1 Y
_ B C A D
1.¢
| II III IV
B F A D
2. %
I II II IV
.~ B F A E
I II 111 IV
L& DB A D C
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Match the following lists

List-I List-1I

A.  Spring wood L Phellogen, Phelloderm and Phellem
B.  Heart wood II. Xylem vessels with wider lumen

C.  Starch sheath III.  Highly lignified secondary xylem
D.  Periderm IV. Endodermis

V.  Pericycle
&2 S0l VLU wBOGWl:
DEE-1 OEE-IT

SO W L O3B0 apresglund®, LBl Sy s SO0 eotuitgrudn
o) I JEUr 8 0S5aEUS EOS el PP
06 2.0 L eopfore Of) S8 Doty S3Soh wedvad
DOWBG S0 IV,  eoodyGyasn
V. 268850
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The correct match 1s

OO 22
Options :
A B C D
L I1 II IV I
A B £ D
I II Vv IV
2. %
A B C D
II III I v
3. %
A B C D
II 11 1Y I
4.
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The term “Ecosystem” was coined by:

508 S350 O VWA DIFEIT:

Options :

W.M. Stanley

WM. 3
1. ®
T. Salisbury
T. ¥O%e00
2. %
R. Mishra
3. % R &g
A.G. Tansley
- AG. NS
4.9

Question Number : 20 Question Id : 7196501780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements:

A) Submerged macrophytes release oxygen and enrich dissolved oxygen in water.

B) A single mature tree can absorb 68 Ibs CO» per year.

) Production of fuel plants is an example of provision services.
D) The aesthetic value of a place 1s considered as regulatory service.
DO FPgar° g (80w,

A) LPOF IS BAH), Wre B0y o0 383230 K0 Walto ey o AEIS” 500 W),
@382 Dotherow.

B) QPO GO 008y, 2wl DodBE sPLed’ 68 Ibs COz & dalvob.

0) I I8 U &S VORI Grd VSO &.f e,
D)  2uf DB Sold oty SNSUS Dot TR E BSF 1E0BSE).

Options :



A, B only

A, B Srgs
1. ®

C.Donly
. C,D Sgd

A, Conly

A, C Srgd
3.9

B, C only
. B.Carga

Question Number : 21 Question Id : 7196501781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A. Concentration gradient must already present for molecules to diffuse even if facilitated
by proteins.
A seed may appear dry as 1t has no water.
The absorbance of water by corn plant 1s 5 liters in a day.

Numerically osmatic pressure is equal to osmatic potential with change in sign.

m o aw

Transpiration is affected by root/shoot ratio.
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S0 85y, Sy 8.8 G 5 O 3D LenyFoctuod.

o N wp
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Options :



A, B, C only
A, B, C Srgd

L%
A. D, E only
. A.D,E Srga
B, C,E only
- B.C, E &g
C,D. E only
L C, D, E gl

Question Number : 22 Question Id : 7196501782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Identify the mismatch

ROTP 2OTR AR (OoW.

Options :
Magnesium —
369y & s
- %) ;JQQC&JD
Sulphur —
- NS —
Manganese  —
AT IS —=
3.®
Nickel —
&S —
4.

Question Number : 23 Question Id : 7196501783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Respiration, photosynthesis, DNA/RNA synthesis.

0500, SUeazdgdoddrtiso, DNA/RNA Doglessn

Cysteine, methionine, thiamine

QVR, WHTTPAR, POV
ik

Photosynthesis, IAA oxidase. Nitrogen metabolism

$0eazzdgociriiah. TAA wdy&es, S8z eddfoh

Urease, nitrogen fixation, cytochrome-c-oxidase

odnbodses, S TS0, RS N-c-esy G

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) :

Reason (R) :

DByBSw (A) -

Ogesw (R) :

Exothermic or endothermic, the substrate has to go through much higher
energy state or transition state. The difference between energy content of
‘S” and that of the transition state is called activation energy.

In a multistep chemical reaction, each step is catalysed by different enzyme.

$00IrNE S #3rirs Wigws” ol Durgrain ) 48 1S S
SBHOSES P ry0r $63 FETTO, KO0 ¥ S S’ Soe HHHOSSLS

X,

o

S iy o Hard), e 48 wotrdy.

)

WREITIN GFANS DSBG9 VAGIS D) DoBven &dy90eo

£

Cﬁ@“oﬁ)&éf'w.

The correct option among the following is

&a S0l aawl)?o@‘g DOGRI&

Options :

(A) 1s true.

(R) 1s true and (R) 1s the correct explanation of (A).

(A) D0oNI&, (R) Loondd G050 (A) 5 (R) 008 2sds.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A).

(A) S00wI&, (R) Soowdd 322 (A) R (R) 008 2886 0.

(A) 1s true but (R) 1s false.

(A) Do0wowId =R (R) Loowndsh 2.

(A) 1s false but (R) 1s true.

4.%

(A) DOoNIE 200 3 (R) Lowowsh.
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How many ATP and NADPH molecules are required for the synthesis of 6 molecules of

glucose in photosynthesis?

§(‘.’)8386r553(}ocﬁ;§°ﬁ§053@6 6 g‘}}"émag StwedL AOIP08 VGGt ATP SHbaivw NADPH
OO Vo elos?

Options :

18 ATP and 12 NADPH
18 ATP ocsw 12 NADPH

1. %
36 ATP and 24 NADPH

, % 36 ATP Jocsw 24 NADPH
76 ATP and 108 NADPH

- 76 ATP 56050 108 NADPH
108 ATP and 72 NADPH
108 ATP 0ociw 72 NADPH

4.

Question Number : 25 Question Id : 7196501785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 12 molecules of COz are to be reduced. how many molecules of Glyceraldehyde 3-P are

used for the regeneration of RUBP in Calvin cycle?

12 emahen COz 5050886 Dol 3O3R Sooked D:'f%‘l W) QRTPYrS 3-P e

RUBP a)380@568) QQ0riadnd?

Options :
e 10
v 20
su O
30

4. %



Question Number : 26 Question Id : 7196501786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) The reactions catalyzed by pyruvate dehydrogenase require several co-enzymes.
B) By two successive decarboxylation reactions. isocitrate is converted to

a-ketoglutaric acid.

C) Oxidation of respiratory substrate energy is released i bulk and utilized for other
reactions.

D) During the breakdown and synthesis of proteins. respiratory mtermediate form a
link.

E) RQ represent to ratio between CO»- liberated to O, absorbed during respiration.

QOGS TPgaT gLl (00N,

A)  NE GarEedn S e 0Bohy WiguS e HlPoBSine @sdde.

B) Coled G5°0P )8 TRm WigL SE0u™ GrAEE a-SEHreros weorr drdudod.

G) FLRSON SAIrPTRTrLy @850 Woli)in ¥8 @oP IPQ LIPS HE0S J0
S350 DA HoSWED.

D) gféj(g Qoges 005N DR ‘)éo 23000 Y, D& by T JOEON Irtgans e yTe) o
Koevotio S NEorow.

E) RQ 29:03&, 260EGS CO2%0, eddirfowetes 0250 v Q) S.

Options :
A, B, C only
a A, B, C drgd
A, D, E only
- A, D, E &g
B. D. E only
B. D, E &g

3. %



C.D. E only
C.D.E &g

4.%

Question Number : 27 Question Id : 7196501787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a tomato mutant plant. it was observed that succinic thiokinase enzyme is lacking. What
is the requirement of glucose molecules to release 1152 ATP for its other reactions in the

presence of O; environment in this plant?

&5)05GS0 Dol a8 €57 o) & 083S HAFSSR odoZad G Habdoady. & dwd &
NDed Sogen BELEPISE, O2 00DGeT 1152 ATPO DE0GL H00Erad wdode @O

(r5°e Enede Jogeh B k.

Options :

24
1. ®

48
2 8

96
3.®

36
4.

Question Number : 28 Question Id : 7196501788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Arrange the auxins, gibberellins. cytokinins and ethylene in a correct sequence depending

on their physiological activities given below.

A) Production of new leaves and chloroplast
B) Xylem differentiation

) Internodal elongation i rice plant

D) Delay in senescence

&2 800 98 ge0G @8O, 22 )0DOW, VETADLY HOAIN DEOS 00 $8yohu wardorr
TR VB ST0E00T” @ Yol

A) §'E LTrw, oS CawadHw SirOS

B) 0 DEISSW

) 50 0¥y &S° St 03P FEed) WG

D) POy WODgRGW0E

Options :

DA B, C
1. #

AL B D
2. %

B D AE
3.

B AT E
4. ®

Question Number : 29 Question Id : 7196501789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

ListI List IT
A) Leeuwenhoek I) Link to infections disease
B) Louws Pasture II)  Description of bacteria
C) Koch IIT) Coined the term bacteria
D) Ehrenberg IV) Chemical factories
&e S0l VTN 2BRCSW.

D88 I D8 11
A) O35&5 ) ©otwnargiold Sezolie
B) oo ardyo ID) erfOair S8
C) == III) 2°5008r @ Sr&S Tl
D) 0:35505530(2 IV) CralRf Somyrrocen

The correct match 1s
OGRS 2

Options :

A B & D

1. ®
A B C D
I II I1I JAY
2. %
A B C D
[I1 IV I II
3. %
A B C D
II AV I III
4.

Question Number : 30 Question Id : 7196501790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists.

List-I
A.  Polio L
B. Ebola 1L
C.  Hepatitis I11.
D.  Oncovirus V.
V.
&2 S0l DU 2BO0Nl:
DE8-1
A FOCr L
B. oeSw I1.
C. rOEER I11.
D. 08301 IV.
V.

The correct match 1s:

2OTeS 26
Options :
A B §
I1I II I
1. ®
A B C
III I II
2. ®
A B 5
- III I II
3.9
A B C
IT I11 I

4. ®

List-II
Mortal human disease
Do not result in death
Physical weakness

Cancer

Beef

eI
SIS e, Sudaing
SHTEP), ¥EBORED
60 wsrse
SEINNG

£909) 0IT°0r0eaN)



Question Number : 31 Question Id : 7196501791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists

List-I List-IT
A. Phenotype L Position of a gene on the chromosome
B. Genotype II. Genetic composition of an organism
C. Allele III.  Alternate form of the same gene
D. Locus IV.  Distance between two genes on the chromosomes
V. External appearance of an organism
&e Sold DESED 235 Wakwasw.
ws-1 Q&E-1I
Al Qydglrissw L §'3r PR e2ddg PSw
B. &30l II. RSNSOI
C.  cluriyoioyssn III. 208 23030809 CR0Ey DT°g0N Brrlasw
D. v IV.  §ar¥803 0ot gho Sy &
V. SRR VA SIS

The correct match is

000 239
Options :
A B & D
L Vv II 111 I
A B & D
e ¥ III II I
A B € D
v 11 I II

3. %



v 1AY II 1

Question Number : 32 Question Id : 7196501792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : When two genes 1n a dihybrid cross were situated in the same chromosome,
the parental gene combinations is less than nonparental combination.
Reason (R) : The experimental evidence of chromosomal theory of inheritance led

to the discovery of sexual reproduction to variations.

QB0 (A) : LVeEle PAIrted” s §'arP0eS” Dolh) BGHLR &:3) W PP BIEHS
203 EEFLY 83580 SuowE ey S50y KT Hotrow.

000 (R) 1 §ardFane @dless durod Loirmre) 5 Hosudw, Jowegod wardo
ToOHS’ G ND R T Sekob.

The correct option among the following is

& 5ol 2 ‘)5006"’ SIeToR N

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 20oNIR, (R) DOonI& 00w (A) % (R) 003 280¢8.

1. %
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) DOoNI&, (R) Doowdd 3 (A) K (R) 008 2886 5260,

2. %
(A) 1s true but (R) 1s false

. (A) LoowI& 20 (R) Doowsd .
(A) is false but (R) is true

. (A) JOoNIE U == (R) LO0088.
n

Question Number : 33 Question Id : 7196501793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

E. coli bacteria is grown in a medium containing >NH4Cl1 for few generations and later
transferred into medium containing *NH4Cl. When samples were taken and analysed after
60 min. what will be the ratio of light and hybrid DNA segments on CsC1 density gradient

separation.

o). ST er§oairo PNH4Cl do Cirdss’ §9) doras $dce B0 Soege “NHLCl to
USSR 20 ovdy 220038, 60 AaNrO STPie P JLFTPO REGeR CsCl ol
O FO IV e VWIS IRToL- WISRIN ) oo TS @d) DO DO D088 DNA mobioro QSR
INVIOUNSIGIVE

Options :
6:1
1. =
g 5
i B8
2. 1
ﬁ_?
3 o
] &
- 1B

Question Number : 34 Question Id : 7196501794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Lysine and Arginine are rich in histones and carry positive charges in
the side chain.

Reason (R) : Prokaryotes DNA is circular and referred as genophore.

QEBEN (A) 1 YOS SN, B0IC ©LTIF oHols R D) TLNLD BT ITOD
20€980u 0BV ow.
00 (R) @ 308¥Qrdy 2fahwes” DNA S80ers o a)ots 28 PP Lusewodned.

The correct option among the following 1s

& 8ol mwa?u@ﬁ DOGSE

Options :



(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) J0onI&, (R) DO0wse <000k (A) % (R) 003 osde.

1. ®
(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A)
(A) DowoNS&, (R) Sowondd 2 (A) % (R) 20 w80 2.
2. ¢
(A) 1s true but (R) 1s false
L (A) 200wd& 30 (R) S0wowdd 2.
(A) 1s false but (R) 1s true
" (A) 200Nk = =R (R) S8wonid.

Question Number : 35 Question Id : 7196501795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



List 1
A) Template strand
B) Location of promotor
C) Okazaki fragments
D) Taylor experiments
& S0l PR 23500 BN,
i |
A)  SFIDOE 1)
B) $3r&0 o 1)
C) eers wobTPen  1i1)
D) &ud Hoirmre 1v)
The correct match 1s
QOCW 22
Options :
A B &
1, IT 1, 111 i, IV
1. ®
A B C
i1, IT 1, 11T w, IV
A B €
. i1, I1T i, IV i, I
A B €
v, I1 i, IV 1, IIT

Match the following lists:

4. ®

iii)

1v)

ListII

Before structural

gene

i1)  Faba beans

srzoe 11

QT°Y 63 22003050
NIV
220”2807 (2
oS

5'-3' Gydbeégo

Transcriptase

5'-3' polarity

1)
111))
V)

IT)
I1I)

V)

List III

DNA replication semi
conservative mode
DNA with 3'-5' polarity
5' end of coding strand

DNA ligase

sreoe 111

G008 E DNA 028y
ESTARING

3'-5' Gys& 508w DNA
VoS8R arwd 5' 87
DNA gt



Question Number : 36 Question Id : 7196501796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The genes in the plasmids encoding resistance to antibiotics act as:

PR ENTR GotlnairedSy TGS 0 Urd eadgdn S8 dere SgdilrOrow:

Options :

Source DNA
DNA &Soreo

Selectable markers

JonE WS 535“52;5,:,
2.
Site of origin of replications
DNA 8,3 rdo
3.8 ®
Cloning site
5°Qod) Fedo
g% o

Question Number : 37 Question Id : 7196501797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the chief enzyme that is involved in PCR technique.

PCR o338 Qteadadne i)"ﬁ';r;ﬁ éoﬁl)&) @o@ﬁ)&'}.} fﬁ@ozﬁo@.
Options :
Restriction enzyme

o jéc% @oécs}

gy

DNA ligase
DNA 3%

2. %

Hydrolases

T I%
3. =



Tag polymerase
¢rgh arOSdes

4.9

Question Number : 38 Question Id : 7196501798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Plants are used as biofactories or bioreactors for obtaining specialized
medicines and antibodies by molecular farming technique.

Reason (R) : Early diagnosis of disease can be done by PCR technique.

DB (A) 1 D 08 BIDHOFILNT S LICIPOOTELNT 6 TDgEBS S0B00),
VSOEFUD VW VRVT®So WJT° Srotodume) .
50650 (R) : PCR Fo8BE aapdo ryo® &'t edies wPL Sol DOWSuio) .

The correct option among the following 1s
&2 S0l WYFUT LOGLSR
Options :

(A) 1s true, (R) is true and (R) 1s the correct explanation of (A)

(A) $8©00S8, (R) $600056 SHO05 (A) K (R) $83 a8,

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) J0owdL, (R) 00@0wdh 53 (A) 30 (R) 008 2508 0.
2. ¥
(A) 1s true but (R) 1s false
(A) 260058 2R (R) S6200058 °6.
3. %
(A) is false but (R) is true
\ (A) D0oWIE 2 R (R) o0&,

Question Number : 39 Question Id : 7196501799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct statements.

A) Usually only one in few hundred to thousand crosses shows the desirable

combinations.

B) Classical plant breeding involves artificial selection and genetic and molecular
biology.

) Evaluation of breeding lines to be done in several locations and seasons.

D) Jaya and Ratna rice varieties were developed i Philippines.

NSINEENI(SIN T Vs TIRS AW

A) Pl §2) Sl ol FU DoSlRrw 22008, wl PO SIPg TP A0RES
wisren EQLFow.

B) FS0EI%3S sy © DasSol” EyB Sto SOCIN 23Dy WEEss TR0 BROIFOFR.

e QeE0ENITL L3k QDK LRTUS wNHOT BAPYTR.

D) 20 00w 08 £0 Irui HOPNT @asyd wrd.

Options :
A, B only
. A, B Jrgo
A. C only
A, C Sorgdad
2Y ~
C.D only
. CDarg
B. D only
B, D sl
4 %

Question Number : 40 Question Id : 7196501800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

List ]

A)  Without distillation

B) Distillation of fermented broth

C) Bread making

D) Bacteria

&s S0l DETOD 2BL0Nals:

DG

A)  Dghdo S8

B)  Seigce WA grd 5o

C) &&Sard

D) eorS00ir

The correct match 1s

2O 23¢9
Options :
A
1. % v
A
[T
2.8
A
II
3. %
J:ﬁ
b7
4.

III

II

111

I

IT

v

T

D
M)
I1T)
V)

I)
1)
11T
V)

List IT
Rum
Bakers yeast
Swiss cheese

Wine

HEE I

P

Soxd
= 2
&J&‘SD &
R'Jcsc'i_.) ANV
% 55

a_

Zoology
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
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Sub-Section Id : 71965037
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tilman’s experiments with outdoor plots revealed:

iy FTred’ HU)S 26D DOT GV HIL HrITOW

Options :
Plots with more number of species showed higher variations i biomass
EGTO0E ey ad)ond FUliiSeeS el HSg0%8 WDHpS SrduU%
€5 58008

1. %

Plots with increased diversity contributed to higher productivity

)V FDSg0 WS WP EERn HS GTPYGGH GErEHETrow

2.

Plots with more number of species showed more variations in productivity
. OO B KO ETPL GEP)BEBES’ 080 & SO DE0PON
3.
Plots with more number of species showed more variations in biomass year after
year
V&S L (U TP Dodlo BB DedB)0PRS eidEssoeaesS” )80y
S3E0NL0 DAOZFOW.

4.%

Question Number : 42 Question Id : 7196501802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Species is a breeding unit.
Reason (R) : Closely related species of a genus can interbreed. but they generally

give rise to sterile offspring

BB (A) @ oD el Haedad Daseeso
8 (R) D 28 DerSAS D K0 Detotie (L gLl @otd: Jaddoe 28NSy, B
FrieP 23S 300 De@de 859@3805'1“ &otlold

The correct option among the following is
&8 808 DRYFOS" HOGLNE

Options :

Both A and R are true. R is correct explanation for A

A 00050 R Qggo. A § R 0 58¢es

1. %

Both A and R are true. R 1s not correct explanation for A

A 0050 R Qego. A § R 003 508 2
2.

A 1s true. But R 1s false

A Q2do. 2D R Q280 3280
3, %

A 1s false. But R 1s true

L A D20 . U R Qe

Question Number : 43 Question Id : 7196501803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Ciliated epithelium 1s found in

0TS0 &DEY Gole 2PTPLD
Options :
Bronchioles and fallopians tubes

" 3T REL, éﬂge‘;}dﬁﬁ TPFRER



Fallopian tubes and pancreatic duct

?g“&cﬁjﬁ TFEE, g"é:é"co oo

Bile duct and fallopians tubes
DBEOT o, PG HON TF°L

3. %

Salivary duct and eustachian tube

. PPN o, CPPI0RR T
4. =

Question Number : 44 Question Id : 7196501804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the followng statements:

L In fibrous cartilage. perichondrium 1s absent.

1L Os penis 1s a sesamoid bone.

111, The ratio of RBC to WBC in human blood 1s about 500:1.

IV.  Eosmophils secrete heparin and histamine.
S0l o) @Cﬁ%QﬁJrﬁo WoRcle.

L GOV S0xeLrrS” HO SYEHUPY Golich.
IL B VAV VDSTONE IS0

ML S S5 8 6 &me, By 85 Sore D238 Kosmsore 500:1.

IV. 83800 L) PP, SPPa L) JOToN.

Among the above. identify the incorrect statements.

D T3S DO WL (00oIobs.

Options :

1. % LI



Question Number : 45 Question Id : 7196501805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:

Arthropod Class
A, Limulus L Chilopoda
B.  Sacculina II.  Arachnida
C.  Scutigera III.  Diplopoda
D. Aranea IV. Xiphosura

V.  Crustacea
508 ¢35 23¢% HGDels

@g & Dertso
A Qe L S
B. @y Toe 1L 08 &
C oy, B0 oL &goee
D. oaJddalr IV. eoroe

V.  5onoie

The correct match is

QOGS
Options :

A B & D
IAY Vv III I

1. ®
A B C D
Il v I %

2. ®
A B G D
II I A% 1A%

3.8
A B C D
IV Vv I II

4. &

Question Number : 46 Question Id : 7196501806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Follow the statements given below

I Haemoceol in arthopods 1s around gonads and excretory organs.

1) Haemoceol in molluscs 1s around kidneys, visceral organs and gonads.
)  Coelom in echinoderms is modified into an ambulacral system.

IV)  Functional body cavity in annelids 1s the secondary body cavity.

508 ©oTPLY WEHade WCKots.

I) e_egau& 08’ 65 LTG0 DaET W, VIS ATV BDHBD) Eotnod.

I) SwoR)us 65 Liro ATrGnom e, Woddorrew, Das T 35800
oL,

O)  APSEEOS L0 otnGES S350 TP ErareSoiold Gotied.

IV)  o30GeeS’ §a5re 5 B 5oirde HZBAD 468 50irdo.

Find out the correct statements from the above

2 7235 D0 oL,

Options :

Only I and IT are correct

L II S50

Ounly III and IV are correct

1L, IV A5

Only I, IT and IV are correct
L 1II, TV &y

3. %

I II. IIT and TV are correct
L II III, IV

4.%

Question Number : 47 Question Id : 7196501807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Archaeoptervx lithographica 1s a connecting link.

Reason (R) . It possesses reptilian and mammalian characters.

DI\Bo (A) 1 e0,alp08) dEPDS 2 DOTD VBV
560 (R) @ @60 280y 00, 366 Loy $96 Gotnod

The correct option among the following is
&t S0l DYFOS HOGLIL

Options :

Both A and R are true. R 1is correct explanation for A
A 208ain R Dazo. A 8 R 28 D55¢s.

1. ®

Both A and R are true. R is not correct explanation for A

A 208a3w R dzo. A 8 R 2T DdHdes s°C0.

2. %

A 1s true. But R 1s false
- A dzo. 320 R Dazo 0.

A 1s false. But R 1s true

" A Q2o 3. 520 R Dao.

Question Number : 48 Question Id : 7196501808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following:

A) The earliest tetrapods with metanephric kidneys are reptiles.
B) The earliest tetrapods with columella auris are amphibians.
C) The only tetrapods with sclerotic plates are birds.

D) The earliest ureotelic tetrapods are birds.

$ol WoFLD WUZCNIo WOleG

A) oty X35 S St SONI DED WP YLD DOJYEL
B) 500008 SONS HES5 S ycien Saioh Soren

C) DO D 0°EI8 DUTLL FONS a8 28 S0P HCd DT

D) 2G50 GO PEIOE ehap yihew DEdw

Which of the above are true?
2 e DB oL (DOodl
Options :
Only Aand D
A, D Sorgdo

1. %

Only A, B and C

A B, C &rd5
2. 2

Only B, Cand D
B. C, D s5rgan

3 8

Only C and D
C, D sardo

4.%

Question Number : 49 Question Id : 7196501809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following statements:

Statement I : Infraciliary system and motorium form the neuromotor system in
ciliates.

Statement I : The binary fission in Euglena 1s called homothetogenic fission,

because the daughter euglenae are like mirror images.

DAFSST DDA 08 Vi) FDEHOR), eSBaoen $DD TG s
SIOR VBB,
OrSSIL : aldor & 200 OIS D6E by clrhTen G8ye DO

BTV &06P00 %2063 TR S A0° BES &S DD ety

The correct option among the following is

s 800 DWYFLSE DOQRIE

Options :

Both statement I and statement IT are correct

DBPES 1, HAFES 11 295D

1. %

Statement I 1s correct and statement II 1s wrong

DAFES T RGIB, T PAFES T HFHG T

Statement I 1s wrong and statement 1II 1s correct

DBFGS T DBHO S, T HAFES 1T 2056

Both statement I and statement IT are wrong

DAFSIe0 I, PTG I HBHD 5

Question Number : 50 Question Id : 7196501810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vigour and vitality lost due to repeated binary fissions 1 ciliates is restored by

058 BT DY HL OGN E'e5°\00D BIVBID, ADD(Do VA & Sod HSAL
oo 86A Jodboran



Options :
Conjugation

?boo.“mﬁ&o
1.V

Syngamy

2oa3ws Vodirio

Multiple fission

LITTVT ;‘)rf)ae;a

Sporogony
F\BED

4.%

Question Number : 51 Question Id : 7196501811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Plasmodium causes hypertrophy of red blood cells in man.

Reason (R) : Number of red blood cells increase in human blood due to Plasmodium.

BB (A) : PG B SIS i G5 SEro’ THS (57D Senthghiod.
S0 (R) © P Gako S8 & S4ess” 3 68X Seme) Sog DR,

The correct option among the following is
& $o0 DRYFOS DOGIH
Options :
Both A and R are true. R 1s correct explanation of A.

A 50050 R de2e. A § R 30 2e0es

1. %

Both A and R are true. R is not correct explanation of A.

A 50030 R Q22o. A 8 R 00 2:58e 5°¢0.

2. %

A 1s true but R 1s false.

A 220 . R Reso 5°¢0.



A 1s false but R 1s true.

A D230 5200, U R Qo
4. &

Question Number : 52 Question Id : 7196501812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The following are related to the life cycle of Wuchereria bancrofti. Arrange them in

correct sequence.

I) Female Culex. 1I) Microfilaria larvae
III)  Sausage shaped larva I[V)  Noctumal periodicity
V) 3t stage microfilaria

&Sooalr 33”03"’23 25e% xﬁ?‘f&@ Rt 8o PR DGO go:'l}o@ﬁﬁ @ﬁ)ébo&

D e Sr08) ) 25 pOOASr Getssen
III) o o0 Goaddo IV) 50 gbddde

V) 38588 Spsoase
Options :
ILIV.ILL V

UL IL IV, L.V

2. %

LILIL IV, V

3. %

CILIV.ILILV

4. &

Question Number : 53 Question Id : 7196501813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Follow the statements given below

I Sleeping pills contamn barbiturates where as sleeplessness 1s caused by
amphetamines

II)  Hallucinogenic drugs can be obtamned from Arropa belladonna and Datura.

III) Chemicals extracted from the Indian hemp plant have receptors in the bram.

IV)  The use of anabolic steroids by female sport-persons regulates menstrual cycle

508 oL W30de WAkl

I) DG SISO 2870 )argBEN GotRPON. &oa)ddele ALFAPOED

1I) 2P0B8 O3S 33708 QP edfar JeEwr, ed Sk DEOFLY

) &30 drow o30E) Sok VEOIENG: SRONTPLED (PO S0HEES &otPow
IV) ©derdS HTPoNGERIRD S0are SEPsPioen PG ar0eS Sogh o 550208558000

Find out the CORRECT statements in the above.
2 aPE3ES" 00S WL (0ot

Options :

Only Iis correct
I &gl 2058
1. ®
Only I and IT are correct
I 2080t 1T PGl 505D
2. % B
Only L IT and IIT are correct

I IT sofos T &SPSh D085
3.

I II. IIT and IV are correct

I II, IT 0803w IV 0088
4. % -

Question Number : 54 Question Id : 7196501814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Palpiger 1s a part of

) Qe&@ BT 2o



Options :
Labium of cockroach

&T@oﬁt TaleT)

Labrum of cockroach

858 B0

First maxillae of cockroach

85608 A0CE 32080800

Hypopharynx of cockroach

Question Number : 55 Question Id : 7196501815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

List-1

A) Refractive region

B) Vitrellae

) Photoreceptor cells

D) Secondary pigment cells
:SP& TPEIR 23€8 DGl

365 - 1

A) 358 8353 Jrotho

B) o8

0) o (P78 Stven

D) OIBOD SCE Keren

The correct match 1s

DOGS 236
Options :

A

II

1. ®

A

T\}'
2.9

A

III

C D
I I
B & D
II v III
C D
v V

D

1)
III)
V)
V)

D
II)
I
V)
V)

List - 2
Semper cells
Iris pigment sheath
Retinal sheath

Retinulae

Cormea

o385 -2
o Lo
HOEGE 4:5(;.:)§ Eggoey
5@ odoe é(;.;jsc’\ﬁ"‘b(f)o
5@ DI EePe

B Do



I IV II I

Question Number : 56 Question Id : 7196501816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Observe the following diagram of labium of cockroach and pick up the correct set of

labelling:

8od %}&558&&:5 85“@0§ &30 O:'b.ﬁa_ cf)@”ci'.}g_ 203D OP mgoxﬁ%@oé TP 6'}-.3{)5"3.};

t0000b.
Options :
I II III v
Paraglossa Labial palp Sub mentum Mentum
FoH 656 DTyoffo 2085 Ddotdo 2okro
1. ®
1 I III v
Glossa Maxillary palp Mentum Pre mentum
e 20s® T orfo  Dookdo oo
2. %
I I 11 1A%
Pre mentum Antenna Sub mentum Mentum
D000 248, Fyoffo 28) okdo 2ok

3. %



I II 111 v

Galea Lacinia Stipes Cardo
glilevey ToJasr 2D 50

4. &

Question Number : 57 Question Id : 7196501817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a thermally stratified lake i temperate region, the upper layer in winter is

508655 066t GG DOEGEL 20N HSWYS ITTLS DBYE PO
Options :
Epilimnion

IDONY AT

1. ®

Hypolimnion

DY oI

2. %

Metalimnion

20 D

3. %

Ice

bublelab)

Question Number : 58 Question Id : 7196501818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

ListI List IT
A, Anadromous L Anguilla
B. Catadromous IL. Protopierus
C. Diapause 111 Lizards
D. Aestivation IV. Insects
V. Hilsa

306 T 2h DAL

wo -1 w05 — 11
A OTEER L o)y e
B.  3¢rEed L empds
C. &aolars 1L 20L0ER
D. ORS00S0 IV. $oseen
V. EP i)

The correct match 1s

DOCIS 23¢H
Options :
A B € D
Vv I v i
1.
A B K D
v I I IV
2. %
A B C D
II IV I V
3. %
A B € D
III II I IV
4. ®

Question Number : 59 Question Id : 7196501819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following statements and pick up the correct ones:

(i Carbon monoxide pollution affects the transport of CO2 by the blood.
1I. Electrostatic precipitators are used to control the pollution of sulphur dioxide.
III.  Nitrogen oxides combine with volatile organic compounds by the action of

sunlight and form secondary pollutants.
IV.  Poisonous gas emissions of automobiles can be controlled by fitting catalytic

converters.

500 WL 8G30NNe WO VOMP &a5), WU 00oets

L. SR SIS SPEeNRge S9 8o oy S 2200 CO2 St Derdte @e)Bol.

IL o ereds 003l 0 H0)6 EairEonE sPoly A0BEHE AACIFNFED.

I 3¢ee0 w56 0 57 iy a8 205080 S*E)Q DI ©ed” 03 208 HIBOD ey
FEFOS DO AEOFON.

IV, 0P8rar0 ool oJenssts 0% syrO® aroinew &ERocd) SEOEIS EI3¢0 © 7iEo &g
AODBouSSEY.

Options :

] ® LI

Lo ILTO

I, IV
3.9

LIV

4. %

Question Number : 60 Question Id : 7196501820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Follow the statements given below

D) Enzymes 1 pancreatic juice digest all major nutrients.
1) Polysaccharides are not digested i stomach.

IIT)  Proteins are not digested i oral cavity.

IV)  All peptidases in succus entericus release free amino acids.

Sold 9677 8Gsde WOkl

I) §350 G0’ wo@sinen D) Sneg FRSTLD s WFOw.
IT) FOFEOE L0 250°d0NeS o ).

D)  &S5eedEyeinen exdgBoltdess’ eéde Sad).

IV) 050 Qo080 S0 ©0) DONGEELL VTP S Walireh KL JPow.

Find out the correct statements from the above.

3) BT DTS TPEIR (0OSl.
Options :
Only I and IV are correct

I c0doiw IV Bl 0052

Only IT and I'V are correct

IT a20008w IV gl S0

Only L 1T and IIT are correct

L I sobaso I S 050
3.8

I II. ITI and I'V are correct

L IL 1T <0dosn IV 0882
4.9

Question Number : 61 Question Id : 7196501821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following statements regarding CO; in blood.

I) Most of the CO» is transported as bicarbonate ions
1) Least amount of CO» is transported as carbonic acid
III)  Haemoglobin also transports CO>

IV)  When CO2: is formed due to oxidation of food, pH of blood increases

8g0¢5" COz (080D S0d WoTroRL oMo Baod.

I) &ST B0 CO2 P56 oird Eor0e3° Baores )0 d

II) CRSION D8&re0es” CO2 526,08 eso Eor0eS” Barer 9)0d

) ArfDD roe COr & So0m BR008

V) e535%¢ DTTERD e.engdan W& CO2 EIGBLOVHNEL G0 cfméaj pH
DEHS0E

Among the above, the correct statements are

2 LIS DB oD (dodel.
Options :

LTIV

1. %

LII IO
2.

I, T, TV
3. %

II0, IV
E

Question Number : 62 Question Id : 7196501822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Follow the given statements.

I Conduction in Purkinje fibers.

1) Conduction in bundle of HIS.

IIT)  Depolarization of Smoatrial Node.

IV)  Depolarization of Atrioventricular Node.

508 0T B50%Te IOk

I 008 Bt wPITP SPJe
1) oGO GO LPR WPO° SiFo
) R0 505 SesS dYsese

IV) 505 3805 Se)eS Sdydseso

Find out the correct sequence for the above statements.

2 TP DO SED EdootS” @olyole:

Options :

- M-IV-II-1

1.v

[V-II-II-I

2. %

IV-II-II-I1
3. %

IV=Ill-I-I11
4. %

Question Number : 63 Question Id : 7196501823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Following are the blood vessels and capillaries m kidney of man. Based on the blood
circulation, arrange them 1n correct order.

I) Renal vem

1) Renal artery

III)  Peritubular net

IV)  Afferent arteriole

V) Efferent arteriole

SV SPGTES Doododd SETYRLD, TP SETPRELY Sold Ty wGrow. OF
D0GEIS) 893000 DEIR HE0WS EaootS” oG yols

I) S8y G

IT) SALIANVY

) DO S8V Do

IV)  esgdarar Geodd

V) NI (DS

Options :

IV,ILILLV
1%

I V.IVIIL I
2.%

ILOLLIV.V
3. ®

I, IV V. IIIL I
4.V

Question Number : 64 Question Id : 7196501824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

A)
B)
C)
D)

Synovial joint
Ball and socket
Hinge

Pivot

Saddle

S8 T RSHDGI0G

A)
B)
C)
D)

230D Sen
2208 Oy
D L0
e5°0RGD
73S Sew

The correct match 1s

OGS 839
Options :
A B i
vV IV I
1.V
A B €
I I IV
2. %
A B C
sx V v 11
A B C
I 1T V

)
I1T)
V)
V)

n.'"

Bones involved

Carpal and metacarpal of thumb
Altas and axis

Frontal and parietal

Femur and tibia-fibula

Humerus and pectoral girdle

64833 daswgen
I) AR e 3% Sfjaa“f‘g, SAe3e0do
IT) %’gcﬁdo, g0
I0I) u&r&wi@n, Sjmsfg
IV) 35286, 20200
V) zﬁnwféa, &8 20



Question Number : 65 Question Id : 7196501825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The pigment which plays an important role in the vision in dim light is

SO0 D8 ByRES Sy P Sarodd S
Options :

Rhodopsin

- Serb oS

Iodopsin

OOIPGE)

Photopsin
APETEN

3. %

Chlorocruarin

§EET0S
4% "

Question Number : 66 Question Id : 7196501826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A student 1s about to face an mnterview of campus placement. He is suffering from stress,
sweating, increased rate of heat beat, increased rate of breathing etc. The hormones

responsible for the restlessness of the student are

W DEPg0 olity oD Dotolond Fodidrgd Trady TeSeur) . B ShR0d
SDGE DSSHNP, DS Hixtho, FRYBODH Y6 o DBB, TYVW o DEHGs Sl
OEEPLD D% WolEd®) ¢ . €8 OETPOR S0 PG e
Options :
Testosterone and ICSH

_ O¥pes, ICSH
1. o

Oxytocin and vasopressin

@5YEEVR, TPTDVQ



Adrenalin and noradrenaline

PETOR, TEIGTOD
3.9

Thyroxine and msulin
L QTS R, BINDR

Question Number : 67 Question Id : 7196501827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Read the following regarding the antibody
I) Two mter-chain disulphide bonds are present between two heavy chains.
1I) The Fc end 1s formed by light chains
III) Ig G antibody has two paratopes.
IV) A light chain 1s connected to the heavy cham by an mter-chain disulphide

bond

DO DTS DetIododS $ob BoFTPOL BgudSe WOl

1)) Doty 5775 (TLVR0R 50655 Botld ZRSNG 200TPL GolPou

)  Fec aocio §3 I Heviwed D6 cduod.

I) IgG HA B8PS Got FTE D e EGotTow.

IV) &8 Gy, SO% Pl Teuy GIO)G sedeed” SUdeol Gotrow.

Which of the above are imcorrect?

2 23S DOR) 0T
Options :
Only I
I Soeghan

1. ®

Only II
IT S7ehan

2.¥

Only III
III Soegdad

3. %



Only I and IV

I IV 30530
4. %

Question Number : 68 Question Id : 7196501828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect one.

Sobd 90T E[A3N0 B B 7 WoT ) (DBodod..

Options :

Interstitial cells of testis secrete androgens

202y, 0e5°D TPHeBE Stren Dol VA VIIOW

1. ®

Cortex of ovary contains ovarian follicles

2 DaEBY Je) 005" orrEad DBL Eotraw

In human beings placenta 1s haemoendothelial type

ArS5Y0e5° 20°05DY) srArdoE B0 Hko

The cell mass that enclose the ovum mother cell 1s known as cumulus oophorus

090¢EAT 9 S A 35800 StTrw EShebh e o)) SADVVD &5 G0 9oL

4.%

Question Number : 69 Question Id : 7196501829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following statements

I Development of zygote upto eight celled stage n vitro.
1) Transfer of morula into the fallopian tube.

II)  Implantation in uterus.

IV)  Collection of oocyte from the woman into test tube.

V) Fertilization i the test tube by adding sperms

S0l oTL WEg0HxJe WAkt

D Doy Bego VG SeTw DB HOD 308 eriio
) Setrgumd FTHaHS ToesS 5 Do

)  60e)daiees DAPDS

IV) @) HOET DS '8 LEOoto

V) D050ePESS DF e D¢ 260 HubEdne 220dde

Arrange the above statements in coirect sequence.

2 20T VO ST 550085 o8 ols

Options :

o VoV-oI=II-I

1.

 IV-VsI-II-III

2.¥

o VoIV=ll=II-1

VoIVoI-II-1I
4. %

Question Number : 70 Question Id : 7196501830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a gene has four alleles, number of expected genotypes is

&u¥ 2300ga) 80 ety Gty DL &old, D) 33(‘.3036-3} 2280y Orare Doadg
Options :

6

1. %

- 10



12

20

Question Number : 71 Question Id : 7196501831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s an autosomal recessive genetic disorder?

& 208 795" OB Birs SArE 20e5°D 0S80 230D S SDF 2| WDHVA?
Options :
Incontinentia pigmenti

“E-?U’Pjoé?)é o€dair fbﬁéo@

Hypertrichosis
e F S0

3P0600E VD

Hoemophilia

T dair

3. %

Cystic fibrosis

S IFR TG
4.4 ®

Question Number : 72 Question Id : 7196501832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following statements.

L Aneuploidy 1s a chromosomal aberration where there 1s a gam or loss of one or
more chromosomes in a set.

IL. Karyotype of Klinefelter syndrome 1s 47, XXY.

I1I. Turner syndrome females have a Barr body in their somatic cells.

IV.  Down syndrome 1s a genetic disorder due to the presence of an additional copy

of the X chromosome to the normal number of chromosomes.

Sold oL BGg0IJo WOk,
L a¥ §ared’ad Dabrltod(set) a8l OF ooy §arad’Snen SHme S5 Q%) I &
VEEPQ), JSrgaront Wolrd.
L 55296 doio G, SO % 47, XXY.
I &38)0 oo Y90 Firs Zrud el &°0 Qdre Gotwol.
IV. &R olo @ &g @DESr08 323060 SIPrax™ Gt §aired Snwsh edder™ X
$'aredon DB @otitosd.

Among the above, the incorrect statements are

D ¢3S D0 R WoTUD (Ddotiols

Options :

L II

1. %

I, IV

2. %

LI

3. 8

Lo ILIV

Question Number : 73 Question Id : 7196501833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

Tvpe of sex determination Example
A) XX-XY type I) Periplaneta
B) XX-XO type 10) Pigeon
) Z77-7ZW type [II)  Butter fly
D) Z7-70 type IV)  Drosophila
V) Earthworm
Sobd TPEIQ 2385 DENSel
Dot JTeSEa KD EOPTO8
A) XX-XY ae® I) 0T
B) XX-XO 52 II) PS50
) 2Z-ZW H5S M) AePSs Devd
D) 727-70 263 V) &der
V) TS

The correct match 1s

DO 2

Options :

A B C D

IV I 1I I

1.¢

A B C D
) % IV I II Vv

A B C D

111 II I 1Y
3. %

A B C D
L Vv IV IT I

Question Number : 74 Question Id : 7196501834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Cholecystokimin acts on

?@:’E{JTZ}“ u_c'c\EJ fb{%;:_.) é@‘dﬁc W4 VRS
Options :
Pancreas and stimulates secretion of water and bicarbonate ions
§'38r), 608 W AR, P I @0l H0edEivel

1. #

Gall bladder and causes its contraction

HTPEONe 2 DA D TPAR o8’ Dod) k.

2.

Leiberkuhn follicles to release succus entericus

TebSrd EEUR VAW DEYR WotI0ERRD Lol Bk,
3.8

Gastric glands to release HC1 and pepsinogen

2380 éoG‘DU §_} DD D TIPS Sobs HCI, 3323350&’1) :’_:QQOEJ ﬁ:@o@.

4. ®

Question Number : 75 Question Id : 7196501835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

Theory of Evolution Proposed by
A) Theory of catastrophism I) August Weisman
B) Coacervate theory 1) George Cuvier
C) Germplasm theory ) Lamarck
D) Mutation theory IV) A I Oparm

V) Hugo de Vries

Sob T RSDGIE

DB f'og‘oe‘_’so DATBoDD D
A) HYOD S drrodo I) 23059 DKL
B) E%6¢ drodo )  2rd DHJabsd
C) Daagsady DErodo ) erard)
D) &8,8:563 drrodo IV) AL 2d8%

V) of & Q9

The correct match 1s

QOGS 23
Options :
A B C D
II IV I III
1. ®
A B % D
Vv v I II
2. %
A B £ D

III I A4 Vv



A B & D

Question Number : 76 Question Id : 7196501836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Follow the three column matching and find out the correct combinations

S.No Item Component Equivalent to

1) Primordial atmosphere  H>. H2O, CH4, NHz  Reducing atmosphere

1I) Spark chamber Electrodes Lightning
11I) Condenser Cool water Simulation of ram
IV)  Aqueous solution Amino acids Chemical origin of life

S0l WU @tﬁgwjéo w9 K.)Q(é IRALEEIN) DA (0ol

S. 00 Wode SSUATN QRS DdFado

I PGS TPeSOeo H>. H»O, CH4, NH; Z0% 80 or@radltie

1) GO0 85 WDOE™E e Ao 86) B

) $aHS6 S0 8 8% S

IV) 230 [PSEdo &S50 SRSV SRPOKS 885 EHN B
Options :

Only IT & IV
I & IV Srs

1. %

Only I & IV
I & IV Aed

2.8

Only I, IT & IV

LIL IV 030
3. %



L IL III. IV
L IL, ITL, IV

4.9

Question Number : 77 Question Id : 7196501837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Biogenetic law was proposed by

2505 2&538 E’{}Q"o@“r@& Q@ﬁ”&oﬂrﬁ&)
Options :

August Weisman
2305 DRI
1. ®

Emst Haeckel

. 28y R I°8S
2.V &

Von Baer

e 6

Bemmard Kettlewell

o BONG OGRS

Question Number : 78 Question Id : 7196501838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bird flu is caused by

028 7 D DRI
Options :

HBYV

1. %

Hs Ny virus

Hs N; Qﬁi‘)



Hj Nj virus

HiN; Qdi)

HSV

4.%

Question Number : 79 Question Id : 7196501839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

L o —1 antitrypsin used to treat emphysema can be produced from transgenic
animals.

1I. Milk of the first transgenic cow. Rosie contains « - lactalbumin.

1. First clinical gene therapy was given to a four-year-old girl with phenylalanine

hydroxylase deficiency,

IV. p”’ protein promotes the development and growth of tumors.

8ol woTew @ég&.{drﬁc 0

I Donbar D315 wEildahy o —1 DeBEBNS & sy VOIS setahe wrgom
&S NSToNLED).

II. SCE e2nldg VOSQL eed) SR o o PFLUNRN &otiod

IO s §05S sy D8 HIS OIS FrEed 08 Sae fo Trenih Jedidyorw
o dobuGed

IV. P 3¢S Smeho ey, D8HhEud Fdyirued

Among the above. the correct statements are

2 TES 00 WoTew

Options :

Lo

II. IIT

2. %

I, IV

3. %

4. % 1

Question Number : 80 Question Id : 7196501840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

A)
B)
C)
D)

ListI

Prolonged P-R interval

Shortened Q-T interval

Shortened P-R mterval

Tall T-wave

So8 T 2SDGI0C.

A)
B)
©
D)

P-R @90&00 253,
Q-T ©oBG0 By O
P-R @060 S50,

@gé T-e580t0

The correct match 1s

OGS 2365
Options :
A B
II I
1. ®
A B
I 1AY
2. %
A B
\% IV
3. %
A B
4. I I

v

III

II

‘v."

1)
IIT)
Iv)
V)

1I)
111)
V)
V)

List IT
Hypercalcemia
Bradycardia
Myocardial infarction
Tachycardia
Hyperkalemia
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Question Number : 81 Question Id : 7196501841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The acceleration due to gravity is different for moon and earth

Reason (R) : The law of gravitation is different on moon and earth

0BYB0 (A) : alra 0080 Wetht GInE), IS B8EPLl JEIJENT ofetrow,
00 (R) 1 aro <000k Hoghle GlnE), (odogh] Q0Ke5r7e 30U ad)otIeow.

The correct option among the following is
&e S0l 0TS HOGLIH

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 09550, (R) 09550 $H0050 (R) 958 (A) § OGRS Dees

. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DSga5m, (R) 08550 579 (R) @036 (A) § D0 Deddes 560
2.8
(A) 1s true but (R) 1s false
(A) DBzl 32 (R) e90&ga50
3.
(A) 1s false but (R) 1s true
(A) 08350 5 (R) DBgasn
4.

Question Number : 82 Question Id : 7196501842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The S.I unit of inductance 1s

DOE93 5055 ST HTESD

M

Options :

Kem?. SEL AP
1.

Ks. §2.A™
2. %

Kg.ii. §~.47
3.%

Ke m?S>. A7

Question Number : 83 Question Id : 7196501843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the inear momentum 1s increased by 50% then the kinetic energy will increase by

30D SSTESD 50% DoDSLONS TPo BBFES’ DAL

Options :

50%
1. ®

100%
2. &

125%
3.

25%

4. %



Question Number : 84 Question Id : 7196501844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The time vs velocity graph of a moving particle is given here. Find the acceleration

of the particle at 8-12 sec and 12-16 sec mterval respectively.

B¥ SOISNS P Sy Adlngy Fosn ook dtsve Sy o PO Dl
WrEGl. @ Sgadn oSy Oglerd) 8-12 dEDew HOAkn 12-16 Edew T
B3G50 a5¢5 SEUVMP E38") ol

— eee(s)
Time (S)

Options :
0 m/s? and —1 m/s?
1. %
; P
1 m/s? and —1 m/s?
2. 8
j X
1 m/s? and 0 m/s?
3.8

P 2
0 mv/s? and 1 m/s?
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Correct Marks : 1 Wrong Marks : 0



A particle 1s projected from a point on the ground with imitial velocity of magnitude
10 m/s, such that its horizontal range 1s maximum. The magnitude of its average

velocity during its ascent 1s

£322055770B3 g8 H0Ro BODZELN &8 Eeadnd alrGdOBLey HL 2othed) & Sobs
10 m/s 5O 3fadned” DEDSD JVTR. @ Stso WETPH SS0S5065" &) D DTH0 o3t
0e3T S350

Options :
5
— /s
J2
| ®
22
— m's
5
2. %
545 ;
— m's
2
3.
55
—— m/s
b
4, ®

Question Number : 86 Question Id : 7196501846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball 1s projected horizontally. The range 1s 3H and height of projection 1s H. Find
the speed of projection and actual velocity at the bottom respectively.

(Assume g 1s the acceleration due to gravity)

¥ 200BR) £35Sl DEQEN WONWEID. & 200 A0Sy o°gd 3H oo HEDo
DoDe0ks D H. D80S0 I0Deobs o3t 00 afrdod @8 He0hes & 200
CR0E), eRe0 i) Densen wotd

(g @336 By Sdeaasnrr o8 ok)

Options :



1.¢
oH - E
& > 2

2. ®
g;-l D yJgH

3. %
15

JJ5gH @ ,[—gH

2

4.8

Question Number : 87 Question Id : 7196501847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A block of mass 2 kg rests on a rough inclined plane making an angle of 30° with the
horizontal. The coefficient of static friction between the block and the plane 1s 0.7.
The frictional force on the block 1s

(Assume g = 10 m/s?)

2 kg (355078 (S au¥ Qg £8ee0ei°eB80ed” 30° §gaadn DOVSEIT oSy a8 Dodes
0 DT BVP HoSGI0. S VDS DOCH ¥ BN Ky Ko PSS Hades
(0835500 €038 0.7. 2900 &8 Qa3 @ DG 2000 wo.

(g =10 m/s? 5 6)

Options :

10N



103N

TN

4. %

Question Number : 88 Question Id : 7196501848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A oun fires bullets of mass 10 g each with a velocity of 750 m/s. The person holding
the gun feels an average force of 150N against the gun. What is the rate of maximum

number of bullets fired?

w8 oars 10 g Q85078 SO0 0T a8 8 O 750 m/s Sidned” deoytoed. &
S HENBOSY g8 Cars O SgBTE OIS 150N 20050 DAIFNHoSentdtn Bard
DG, oW & ars DO wode Ay (00 Dotdg BEW oo

Options :

1250 /min
.8

200/min
2.8

250/min
3. @

1200/mun
4.
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Correct Marks : 1 Wrong Marks : 0



A car of mass 2000 kg 1s moving at a speed of 20 m/s up an inclined plane making an
angle 30° with the horizontal. At some poit, the motor stops, and the car continues to
move along the plane due to its initial velocity. If it 1s just able to reach the destination
which is at a height of 10 m above the point. calculate the work done against friction
acting between the tyres of the car and the plane.

(Assume g = 10m/s?)

£220a570t80es” 30° Sl DKy 2.8 Pen Bodn 25 af 8 2000 kg KS50°3
500 20 m/s G350e5° HATPEIWE. &2 S9003) 2B 25 eJotial) S B0 Hot3Sd SNEFONE
5Q & 0 TP GIE), 57O oIS SO S0ethB SELNE0el) 90KESN. B SO &
8) &8 Wotidad) o 10 m BrdetS” B0 ¥ WIS 2atidadV TR (5:5g PP B30k
©0HI) OB, & SGrIS HOCIN S8 JFPL iy DG SgBOSST & 52 Dok
R 0doth?

(g = 10m/s? ©505&)

Options :

250KJ
1. %

200 kJ
2.9

150 kJ

3. %

300 kJ
4. %
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The force acting on the block is 10+/2 N with an angle 135°. Calculate the work done

when the displacement is Av=5m

1072 Navwoes” a8 S0a9) e 135° Smined” HODOR0S0S) 0 & Sof) iy
FSadodo Av=5m ©oNSD & S0eH) S 20AS HV Joth?

Options :

25027

1. #®
50+/2 71

2. ®
—50]

3.¢
40 ]

4. &

Question Number : 91 Question Id : 7196501851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The moment of nertia ot a body does not depend on
28 5069 CI0E). BEDY FPSESW S8 S0l TS BIR WHPGHEE BLwDots

Options :

angular velocity of the body

5:009) CTNE),. STEHOWL o3850
1.V

mass of the body

S5xag) (353073
2. ®

the distribution of the mass n the body

S2009) TG, G508 DS



the axis of rotation of the body

S069) CINE;, B0 XS0

Question Number : 92 Question Id : 7196501852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A uniform sphere of mass m = 2.5 kg and radius R = 10 cm rotates with an angular

velocity. @ = 200 rad /s about its diameter. Find its kinetic energy.

m = 2.5 kg (dadg0°8 (0 8.8 DO F¥sw R = 10 em TGPPGS0 EDNHol. &8 (TS0
TR Pg0a50 ok® AFOD &S0 Gy ® = 200 3&aSra/s SEiok oiiained” HOglEassn
Qo) GoND P 0oy, tides 3§ odots?

Options :
150 7T
1. %
200 J
2.¥
3007
3. %
3507
4. %
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Correct Marks : 1 Wrong Marks : 0

7

&

L = : .. d°x L .
If a simple harmonic motion is represented by oy +ox =0, its time period 1s
7

g

dx

¥ OSSN g VO POt Sodsnd +ox=0 JDEGEIs0S” JPIAY R

dt”
SIS PO Joth?

Options :



o
1. ®

27

N
2.

2rTra
3. %

2aa
4. %

Question Number : 94 Question Id : 7196501854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The period T and radius R of a circular orbit of a planet about the sun are related by

NG5 WG HOFIeR &8 (fire TSy wSdS Fodn T 500k argrdsn R eond
EUAIN VAT BSLEATTANGY

Options :

T? <R’
1.¢

Te«<R
2. W

T :x\/E
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When an elastic material with Young’s modulus E is subjected to a stretching stress S,

the elastic energy stored per unit volume of the material is

2.8 @@§°$§ DTGl GIE, O30 06850 E. &s éaﬂgm S @ Sdgas DBWOSNIK
&5’ J000IDE &8 DTWPPS0S” 28 o8 PISHOSTETAE QO Qodole DBPDE 4§

Options :
s
2
1.
ES*?
2
2. ®
S*E
._1
3. @
L
AFE
4. %
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A pipeline has its two ends with areas of cross section as 20 cm’ and 10 cm?
respectively. Consider a steady flow of water in the pipeline such that, the velocity of
tlow and the pressure at the larger opening 1s 2 m/s and 9000 Pa respectively. What is
the pressure at the smaller opening?

(use density of water = 10° kg/m’)

28 (7623500 Botid QadGL I8y, Sedgu3 e Jarerrgen S 20 em? 00k 10 em?. &
(G520 (2055 a8 8 AL DS (Tro GINE) 3T \E) etlo 56 Ra7°50° o3tiedn 2 m/s
200050 IS0 9000 Pa 0olsdog DBPe. @O HEISS &to 036 Htedo

(V€3 FPoldD = 10° kg/m?)

Options :

1500 Pa
1. %

1800 Pa
2. W

1300 Pa
3. %

3000 Pa
4.V
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A steel rod, clamped at its two ends, rests on a fixed horizontal base. The rod is
unstrained at 20 °C. The absolute value of the longitudmal strain developed in the rod
if the temperature rises to 60 °C is:

(coefficient linear expansion of steel = 1.2 x 107/ °C)

a8 &Ry $6 CEy Totd ISGen HEHONS E2eisired wrrded) DTRQBES
D00980G0. St 56 20 °C &FBS S DEYDS ' FO KT 50, VoD GFHGDH
60 °C 50 Do & 566" SB) DB 0By VKB

(@30, 86 cowgy DA og8™s thessadn = 1.2 x 107/ °C)

Options :

42 x10™

1. %

3.6 x107

2. %

4.0 x107*

48 <107

Question Number : 98 Question Id : 7196501858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If T 1s the temperature of a body then the rate at which energy is radiated from the
body 1s proportional to
o8 S00) GAHS T S& HJ) QoD & S0ed) D8Geasn 3 4§ Oew S Sobd S )
%%ﬁé@ DEVSE 85065 SPB0PH0eT of)otLod.

Options :

T



2. %

T3
3 8

T4
4.

Question Number : 99 Question Id : 7196501859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An electric heater supplies heat to a system at a rate of 100 W. If the system performs

work at a rate of 60 joules per second, the rate at which mternal energy is

B DS EPE 28 S50%0 100 W BEe8” G508 HBH0° BXod. BRE S S350
30 0 Gy, 3w 60 Ts(TSy HD VEHK) Sond & S350 T Soe08 9§ Béw

Options

40 W
1.

60 W
2.8

100 W

3. ®

140 W
4. %
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The mean kinetic energy of a vibrating diatomic molecule with two vibrational modes

1s (k = Boltzmman constant and T = Temperature)

QJDTSTPEDE DY) Coled ZonI0ENLD EDPoC] T GlnE)y, Drdew Hiedes 45

( k= Boltzman constant and T = Temperature)

Options :
24T
2
1. %
3
— kT
2
2. W
5
— kT
2
3. %
Tar
2
4.9

Question Number : 101 Question Id : 7196501861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A rocket moves at a speed of 250 m/s directly towards a detector pole while emitting
sound waves at frequency f= 1000 Hz. The frequency measured by the detector 1s

(Assuming velocity of sound= 350 m/s)

2 OBEw 250 m/s 55068 28 FEE Doalho FR) HOTPBRVSIND B SeS0eD B
SSPO FSEYSg5 £= 1000 Hz 0ond & $°5550 §OD 8 TSR350
(20 55 = 350 m/s ©HTE)

Options :

3500 Hz

1.



6000 Hz

2. %

4250 Hz
3. 0%

5500 Hz
4. %

Question Number : 102 Question Id : 7196501862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When light travels from medium 1 to medinum 2. The total internal reflection occurs

when:
F0d OIPSESD 1 Dol CSTRSE50 2 SR8 Q_QEPE:%?’__QJOC':B. S8 S0l ) éoéé&é})@ﬁﬁ &8 5Poed
cﬁogg_?g‘*o@é K)O‘"cﬁgojoﬁ}) TR IARE VAR

Options :

Medium 1 has higher index of refraction than that a medium 2

OSPeSE 1 Gy, S8 Phoesadon OXrREn 2 Kold w80y,

1.V
The angle of mcidence 1s small enough for the refraction to occur mn medium 2
OIPIESD 2 08 SERSIn @ODEIEN HEITD §es50 BHEy ST adotuol.
2.8
Medium 1 has smaller index of refraction than that of medium 2
OlraSEain 1 adoog), aS8a3assS HogaBainn OirmaS¥adn 2 ¥l %0y a8
3. %

Light travels faster in the medium 1 than in medium 2

SFoth OSraiEan 1 & ofrradsain 2 $old od80p.s5 oStialoned” HOSesiet



Question Number : 103 Question Id : 7196501863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

If the critical angle for total internal reflection from a medium to vacuum is 30°, then

the velocity of light in the medium is

208 5°0e3 208 OUUPaIESW ol é}"nﬂboﬁ})@" 08 DIBoDIDED & T DoIPTPed DTG0
Dol (i Dotdd §%easin 30° 0wed & OiPSEeeS” oo kil wo®

Options :

3 = 10% m/sec

] ®

1.5 = 10® m/sec
2.

6 = 10® m/sec
3. %

v’g % 108 m/sec
4.8

Question Number : 104 Question Id : 7196501864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Consider a Fraunhofer diffraction pattern due to circular aperture. In this case the

o
diffraction pattern obtained at 150 cm from lens. If the wavelength of light is 6000 A
and diameter of aperture 1s 0.2mm, what 1s the separation between central disc and

tirst secondary minimum?

0¥ SYTTE S0 TR0 DENE FPOTFHE DSGIIN DEORD BOBTRSN. 88 Ehodesn

$08 150 cm BrES0S DSGS DN DEYFAD. Fod CAVE, BetiBYgw 6000 A
SH00KN oth AN aPgOSD 0.2 mm SHEEPE. VoS ol HOQINIE SO0
I Ted ESNIE (CogDErS) iy B o

Options :



0.65 cm

1. %

0.45 em
2.¥

0.75 cm
3. %

0.35cm
4.8

Question Number : 105 Question Id : 7196501865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Three particles of charges 1 x 107 C, 8.0 x 1078 C and 27 = 107® C are kept fixed on
the x— axis at point x= 10 cm, 20 em and 30 cm respectively. The magnitude of the

electric force acting on a 1 C charge placed at x= 0.

(Assume =9 x 10 NCm?)

dne,

Sarde 5w Qg wden asy 5 e 1 x 108 C, 80 = 10%C %5005 27 ~ 108 €
EO06HT),000 00050 G SO BelTeN X—@ES0R SCAP x= 10 cm. 20 cm  SoOaw
30 cm Grdeed” @08 0GHTE) 00, X = 0 &S ahodsd 1 C edded DOIPNDG DEged
£ 20050 2o,

1

=9 x 10°NC? m’? @0-5%000%)
dng,

(

Options :

2.5 x 10" N

54 x10*N

2.9

72 x10*N

3. %



45> 10*N

Question Number : 106 Question Id : 7196501866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The potential at a point P due to a charge of 4x107'C located 9 cm away is

=9« 10°NC )

(Assume

e,

4x107C 953850 Kol 9 cm KrGo 58 G038t P 0% Wotided) & & &390 5 SO0
ﬁ§&o(§f-ﬁ@(ﬁﬁ)ﬁ§) DS odoth.

( 1

4ne,

=9 x 10°NC? m? ©9:3%00t0)

Options :

4% 10°V

5x10°V

6x10*V

7% 10*V
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A 6V cell with 1 Q ternal resistance and 10 V cell with 2 Q internal resistance
and 10 Q external resistance are connected in parallel. The current in ampere through

10V cell 1s

6 V $0ér clng) @50 Edasn 1Q 0ain 10 V dudie g @90y dsn 2 Q.
10 Q &rdrg A0TPQ) €8 Ootid A0S DaPetdd DoPISne” S0Deobkaon. @0
10 V 208050 toote® édi)‘féoa 5363355:3} @oa)CIﬁJ'g{ﬁﬁ BUDls.

Options :

1.56
1.V

0.8
2. ®

2.7
3. %

4
4. %
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Find the magnitude of flowing current in R» of followmg circuit, when a constant

voltage 22V 1s kept between AB.

A 350050 B © S0dg w8 8 ST 22V a)ouieatecitd. ©and &8 SL0NHS0ES Ry Bt
HBEPoD DB HITERSD o,

R=1Q R;=3Q
W g VWWW——
Ae ——8B
NAAAAY ® VWW———
Options :
525A
1.
520A
2. ®
6.25 A
3. %
1.20 A
4. %

Question Number : 109 Question Id : 7196501869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A current of 10 A passes through two very long wires held parallel to each other and
separated by a distance of 1| m. The magnitude of force per unit length between them

18

{Use 107 in S.I.m]it}
4

0ol &P FUIS Hien eSTPASTE Nairo®8S0P ofolor Ilm  drdalned” I

LORLIGTTON. e Kool CD 5)6&5@5 DaeErS0 10 A. 0N & Dols BN 003 50k

a0 GG 808 HOSTEISD

[%:10* SI HITEPOES TS S50]
47

Options :

2x10”° N/m

1.¢

3x107° N/m
2. ®

4x107 N/m
3.8

5x107° N/m
4, %
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A battery 1s connected between two points A and B on the circumference of a uniform
conducting, ring of radius r and resistance R. One of the arcs A B of the ring subtends
an angle 0 at the centre. The value of the magnetic mduction at the centre due to the

current ring 1s

DEES TIPEDLD FO a¥ Zo¥in Clo¥y argPdSN T SO0 TGS R. O Sy
DOOL A OGS0 B 0 Tothd Botade ooy 28 237300 SOLT. & SoStsadn Gl
AB @) SySarein PR Solfo 3¢ WO Sdn 0 e9HBemrsn. wod & it
HSPotd DS SO & Zolho S¢ GODF) ot HBE Dot

Options :
proportional to [1 80°-6)

(180° -8 ) % DS BTRTF B aotnod

mversely proportional to r

I 50 Q5 S3°30are90eS” aﬁ}omo&
2. %

zero, only if 6=180°

0y, 38we 6=180° wond
3 8

zero for all values of 8

©0) H VBB DRy,
4.
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The relative permeability of paramagnetic and ferromagnetic materials are

PO O 08550 SHOCKN DY ORI o HIPTPL D), FHE JIGIVG LS

Options :



Equal to zero

SV SRV VY
1%
equal to unity
DPEoS) STISN
2. %
negative
20080 S5
3.4
greater than unity
DES Kol3 2%y
4.
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Consider two solenoids A and B such that La=21.g and AA=1 Agp. where La. Aa and

-

Lg. Ap are the length and area of the two solenoids respectively. If the magnetic

energy stored in the both solenoids i1s same. What should be the ratio of their

; B,
magnetic fields —= =
B

1
Ools) FOTron&en A DO B o La=2Lg Hoosw AA:E Ag @oﬁ;?s DCSDTP
STy, a8t La. Aa HOCW Lp. Ap 0 S0 A ook B o ciwdy, &)

00NN JFOgw. &2 DokoldeS QUG WONF oS 4§ &l IWANTP Holod. WoND

Pailch) @Cﬁ)ﬁ“&o@ ﬁg‘:‘f) @E’.}Q\}t’é Joth,

o ‘}U:J

=]

Options :

1:1



\E:l

2.

1:\5
3. %

1:2
4.9
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When A LR ciremit with L = 3 mH 1s commected 1n series to an AC source of rms

. : . ; (500 ) :
voltage 30 V. a maximum rms current of 6 A is observed at frequency : —_— ;Hz .|
T )

this LR circuit 1s now connected to a battery of emf 21 V and internal resistance of

3Q). the current will be

L =3 mH do a8 LR S0oird) &G £$dged orwe(mms) Sges 30 V, so w8 AC

BI08 S SO, 1 SV’ | phe ]Hz FSEPIID S 50D TMs HevgS 6 A
R | = i

&

DAP0el. BYN)D @ LR Sooirdy 21V Jdogdaryol wodn(emf) o g02géods
©VeTPIS WHTE) 0050 R o0 F'e5 3Q NS DS DaPiro oot
Options :

2A

6A

Question Number : 114 Question Id : 7196501874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0



Which type of electromagnetic waves has longest wavelength among the following
88 800 BRI DGO 08 SBorPUS o6 KOD Biold BTmgD) FON aHotol.

Options :

Radio waves

OGO3r 8elPen

1.
Visible
YN0 e
2. ®
Gamma rays
v — ((RaSie) €98arPen
3. ®
X-rays
X- S8eren
4. ®

Question Number : 115 Question Id : 7196501875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The work function of photoelectric material 1s 3.3 eV. The threshold frequency for

such material will be

2K 2reS &@55 éw%ﬁo G30E). O Db Qend 3.3 eV oL & Derde GI0E). Wdoes
NN NN
Options :

8 x 10" Hz

1

g x 101 Hz

2. %



5% 102° Hz
4% 10" Hz

Question Number : 116 Question Id : 7196501876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(4]

. . : 100
A hydrogen atom goes to excited state absorbing a photon with wavelength ﬁA

where R is the Rydberg constant. If this absorption corresponds to a transifion line in
the Lyman series, calculate the energy of the excited state.

Bl GRS DS %A BGotindgesn ZONS el PEPD 5°00B §"Q00RD

6D Fows IHeld ©HK 0. 8% R ©DSd 8Gd Horesn. & §hen wrgoe
200 JOFIy 0%y Dofbmansdy Tl P wral, «Swd ¥ Fou awg ¥
NVIGENT

Options :

—41.136eV
1.

—0.213 eV
2. W

—0.112 eV
3.8

—0.167 eV
4. %
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When S~ particle 1s emitted from a nucleus, then the ratio of number of neutrons to

protons 1s

2u8 SoQ¥lW 7 FeS0d GIPOR), SPglraw) Doz SHOOKN P DodgBo iy KL

—8

a

A
Options :

decreased

0806

1.V
increased

o VgVl DT

2. %

Temains same

NSLTe T
3 %
may increase or decrease
RGCISE0) T SIS0y
4, %

Question Number : 118 Question Id : 7196501878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The probability of electrons to be found in the conduction band of an intrinsic semi-

conductor at a finite temperature

2.8 DO GATH S ol Dgaraes ©F TEPESNE'D DOFIDOD PR CINEy TS
DS E5r%0p. S DoaTsg

Options :

mcreases exponentially with increasing band gap

"‘d’i oo DBLERP oﬁ)o@j DIPEBOP 2S00



decreases exponentially with increasing band gap

'§_§D (SR e EFvle b oblahy @0@3 DB @C})@Jo&

2.
decreases with increasing temperature
&S OADEF 9ol Bl
3%
is independent of the temperature and band gap
GEPOE S005w 45 WoBlanUR PG
4.
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Which of the following is not true i the uses of LEDs over conventional incandescent

bulb.

T &gro GairS (LED)L Ging), SHCIFPOS Q8 Folmrahierr Sod(05aed)
285 ¢5° FOR) HOGSH T
Options :

Low operational voltage and less power

€950y, 68 S8 565 HODHD SHOCK EH0 PSHG

1. #

Fast action and no warm-up time required

D805 ST $oN08 SO0 K 08 HaKo DI

2. %

Long life and ruggedness

EVEVINE L SRAVINVG WA SRV e WA IRV o [ R



Slow on-off switching capability

c\\/)\:}b R OVY) 5)5:5{:) ﬁ“é}g}ﬁm fﬁoﬁ)&&f’?" a)olold

Question Number : 120 Question Id : 7196501880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?

&5 80> ) PAFES DO

i

Options :

A transducer 1s a device which does not convert one form of energy to another

form
&8 Craro0ed @S PO 28 450 28 Grdde ol HOGINE Grrded &50°0 YO

1. %
The band width of music signals = 1 KHz
D18 DoSTre) oS & Jieny & 1 KHz
2. %
Bandwidth of picture signals = 4.2 MHz
Syds Dodere Glng, HE deny & 4.2 MHz
3.¢
For voice signals. the frequency range 1s less than 300 Hz
F20 D8P0 Al FJadig @il 300 Hz 5ocd &30 &
4. %
Chemistry
Section Id : 71965039
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7196501881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be number of electrons in the species H™, H; and O3 ?

H™, H) 50050 0; sPthoes ot Jupste Dotdg S8

Options :

1.2 and 16

1, 2 Jb6ciw 16
1. ®

0, 1 and 31

0, 1 Sdciw 31
2. %

1,1and 8

1, 1506050 8
3. %

0.1and 15

0, 1 6csw 15
4.9

Question Number : 122 Question Id : 7196501882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of nodes in 4f orbital 1s

4t 0P ol <SG Doddg
o3 [ae]
Options :
Zero

SVVLSY



one

2u8ed
2. %

two

Oolted
3. %

three
4. ¢

Question Number : 123 Question Id : 7196501883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The covalency of boron and aluminium in [BE, | " and [AI(H30):1(‘.1]+2 are respectively

[BE,]™ 506050 [Al(H,0),C1]"” 0 5078 00050 69675 andohoes Scirmadodies S8

Options :
4 and 6
4 200506
1. ¢
3and 3
3 0003w 3
2. %
3and 4
3 SHoaosw 4
3.8
4 and 5
4 50030 5
4, %
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What 1s the correct form of electronic configuration of thallium(TI) element?

O (T1) Srefe aing, 03I dbe_}gjlé ST ROAW

Options :

[Kr]4d' 552 5p!
1. ®

[Kr]4d' 55° 5p°

2. %

[Xe] 4f'* 5d" 6s° 6p'
3.¢

[Xe] 4™ 54" 65° 6p’
4. %

Question Number : 125 Question Id : 7196501885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which among the following lithium halides 1s more covalent in nature?

806 RS BT HAPEID VIEFSSND EDeHS) OB HOE 2E?

Options :

LiCl
1. ®

LiF
2. ®

LiBr
3. %

Lil
4.
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Which among the following species is paramagnetic m nature?

806 TPUES” DTPOOF) 0% DTS D) 6D O?

Options :
8]
LY
24
0;
2. %
2-{—
NE
3. %
N2
4.8

Question Number : 127 Question Id : 7196501887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The RMS speed of N> mn a gas 1s u. If the temperature 1s doubled and the nitrogen

molecules dissociate into nitrogen atoms, the RMS speed of the atoms will be

O50e)ES No Gdwg), RMS oitfe . &I OQol) WIS JEzn(S89%0) wewsden
DESTEHLVT DETSD, & DESTPER)HL O3Sy RMS oo

Options :
11
4
1. %
4u
2. %
6u
3. %
2u

4.



Question Number : 128 Question Id : 7196501888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following represents a plot of compressibility factor (Z) vs pressure (P) at
room temperature for O,?
&3 Sobd aPE3eS D6 0% &6 G 50, Voaleg@® (16850 (Z) 00050 16ecdesn (P) K0 Soddy
FE (PD)H DIk

Options :

P—
1. ®
il
Z
P —
2.
P—
3. %
T
Z
\/’
4. % =

Question Number : 129 Question Id : 7196501889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following

List-1 List- 1T
A) N,(g)+0,(g)—>2NO(g) I)  disproportionation
redox reaction
B) 2Pb(NO, ), (5) —>2PbO(s)+2NO, {g)+103 (e) II) displacement redox
2 reaction
C) NaH(s)+H,0({) >NaOH(aq)+H, (g) IIT) decomposition redox
reaction

D) 2NO,(g)+20H" (aq) >NO, (aq)+NO, (aq)+H,0(¢) IV) combinationredox

reaction
800 TR0 BBDERDIW
635 - 1 e3¢ - 11
A) N, (o®)+ O, (o°) —2NO (o) D eodSared
&8y X00E5e W33
B 2pb(NO, ), (29)—> 2PbO (29) +2NO, (39 +20, () ) Jeged
. 5§ X a8 533
C)  NaH (v) +H,0(&) — NaOH (s:0) + H, () o) &
&8 X 00E5es w538
D) 2NO, () +20H (0) > NO, (z0) + NO, (z0) +H,0 (%) IV) Qecird
e85 \X 0550 WO
The correct match 1s
0OAS 23¢9
Options :

II I JAY I



A B = D
IV I IT I

Question Number : 130 Question Id : 7196501890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The equivalent weight of HNO, m the following reaction is

ol gdgates S8 HNO, ciw) dhowgardo

3Cu+8HNO, — 3Cu(NO,), + 2NO+4H,0

Options :
M
3
.¢
M
3
2. %
M
o
3.8
M
8
4. %
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The change m internal energy (AU) of a closed system, when'w' amount of work 1s

done by the system and '¢' amount of heat 1s supplied to the system, is

a8 Dod)® @alles dgaddB 'g' DOSPEo (U &Rod WoleddP "' DOSTEe (L D
200206 & DosdyD g5 CIwE) @ot0% &5 (AU) & Jimdo)

Options :

AU=w

adiabatic

AU =W gep¥

1%

AU=q-w
2.¢

AU= —q
3. %

AU= —-w
4.8

Question Number : 132 Question Id : 7196501892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

What 1s the concentration of sodium acetate to be added to 0.01M solution of acetic acid

with equal volumes to give a solution of pH = 5.57

(pKq of CH3COOH =4.5)

pH=35.5 @rales Soirdodoinds, 0.01M 0235 AV AAGENVIRSA VAU HOSTTEFE S
¥ODSODS FEODo oIREE PSS 0)oth?

(CH3COOH i, pKa =4.5)

Options :

10 M

1. %



2. ®
0.1M

3.¢
1 M

4.%

Question Number : 133 Question Id : 7196501893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the following reversible reaction
N2(g) +3H2 (g) = 2 NHz (g):AHs= —92 kJ/mol.

What 1s the most suitable condition for the higher production of NH3?

&8 806 669 9250680 IG5
N2 (o) + 3H2 (o) = 2 NHz (a°);: AHe = —92 kJ/mol.
SO SeeS NIz 609138 ©9506 @ HEPORS HOHS Da0ts?

Options :

High temperature and high pressure

©OF &IAD S0k WO HEIS0
. ®
Low temperature and high pressure
©OY GG DO BHE Hdbn
2.9
High temperature and low pressure
©HE &I SHOKN VLY DS
3. %

Low temperature and low pressure

VO &I 00 VLY VSN

4. %



Question Number : 134 Question Id : 7196501894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

When temporary hard water contaming magnesium and calcium hydrogen carbonate 1s

boiled. the precipitate formed contains

Biyackhe HOCH FOOLDH PERS FEHIRGSH DT SR8 oS A I6
BRSEE(S0BHDINE) EYE BSEren

Options :

Mg(OH)> and CaCOs3
Mg(OH); 560w CaCOs3

1. ¢
MgCO3 and CaCOs
MgCOs bain CaCOs3
2.8
MgCOs and Ca(OH)>
MgCO3 S00cdn Ca(OH)2
3. %
Mg(OH)> and Ca(OH)»
Mg(OH), 5630 Ca(OH);
4.
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Ca burns with N> to produce a white powder which dissolves i water to give a gas ‘X’
and a solution with pH > 7. The solution on exposure to air produces a thin solid layer of

“Y’ on the surface. The compound ‘X and *Y’ are

Ca &, Na &5 00Gdani® bég&é B TG AQS 800 X’ @J TPaS0edHd 008w pH > 7
90 EPedEond Bol. G [reltio PO 0o GOSN &l Y’ @d HLIR IS 1
S a0, & X 50005 Y ©F HeEgren eand?

Options :

NH; and CO»

NH: 6a8w CO
1. %

NH;3 and CaCQs

NH; 506cin CaCOs
2.

CasN; and NH;

CasN2 6ain NH3
3.8

Ca(OH); and CaCOs3

Ca(OH)2 %0080 CaCOs
4. %

Question Number : 136 Question Id : 7196501896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0



An unknown inorganic compound “A” on reduction with LiAlH4 produced a hydride
product “B” (along with other by-products). The product “B” contains 21.72% of
hydrogen 1n it. The product “B” on exposure to air gave boron trioxide. The compounds

“A” and “B” are

a8 “A” ol @000 830y dwrde LiAlHs 5" 050500 Job “B” @d 3796 atiyTe) ),
FR00Q (DS &) 0D AEHKP). “B” @3 DHurdo 21.72% rEess §00ded. “B” @
POS” aDodSiPE 0P (9856 ok, “A” SH00k “B” durgren

Options :
A B
B>Hs : LiBH>
1. ®
A B
BF:s : B20s
2. %
A B
BCls : ByHs
3.
A B
B>Hs : LiBH4
4 8

Question Number : 137 Question Id : 7196501897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Graphite form of carbon conducts electricity due to the presence of

sy A% TR Sraretide DgdD Dirde WODGEEIS KO 80
Options :
Spectator electrons

&S oﬁu?jr%@o



Delocalized electrons

OFISHD(LSTETE) SOFIDLN

2. ¢
Sigma bonded electrons
DIPY Wold U9
3. %
Free 1ons
Q) ©OIEORD
4.

Question Number : 138 Question Id : 7196501898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s an end product of acid ram?

&1 8ol BSGES TRAES” 2O G SoeS” oty sy o?
Options :

CH:CO-H

HCI

H>SO4

HiPO4

4.%
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Stability order of the following carbocations 1s
S0l Badgeutens 57T NTP0IRRL VBB 5050

CH, CH CH
o 3ail s e e

+

1) (ii) (1ii)
Options :

(1) = (11) > (111)

1. ®

(1) > (i11) >(i1)
2.

(it1) > (1) > (i1)
3.8

(iif) > (i) > (1)
4. %

Question Number : 140 Question Id : 7196501900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

An alkyne X(C4Hg) forms sodium alkynide and when reacted with two molecules of HBr
gave Y. What are X and Y?

a 8Ty X(CaHs) FE0D0 ©F) SESH aX530K00B SHOCN Botd @ewede HBr &8 $0s
208 Y O 3306, X 50050 Y v Qo?

Options :

X Y
CH,C=CCH, CH,CHBrCHBICH,



X X

CH,C=CCH, H,CCH,CBr,CH,
2. %
X Y
H,CCH,C=CH H,CCH,CH,CHB;,
3. %
X Y
H,CCH,C=CH H,CCH,CBLCH,
4.9
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The cyclopentadienyl cation is

DEVLPG LTS FLOLS 8

Options :
Aromatic
NS935
1. %
Anti-aromatic
55@65 - QT S35 (OSIr0Ed VB S9¢38)
2. ¢
Non-aromatic
Q& S5°¢35 s0¢
3.8

Non-planar molecule

009 ELY) SPCD
4. %
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Correct Marks : 1 Wrong Marks : 0
. : a aa
In a carbon allotrope having FCC lattice, two atoms are at (0. 0, 0) and(—,—_—)
8§ 8 8

coordinates. What 1s the ratio of C—C bond length distance to the edge length of the unit

cell?
s
g 8

?@QSESD 356 &) Q. @YY C—C 200t9pdg0 oS, ClrA VG CInE), Wok SrEeadE0

FCC zro¥ do 2.8 0y0 Graredddeds, Dol DOSesdwn (0, 0, 0) &@oﬁn( 2

o |

o N S.

Options :

3

— ]
- #
1.9

S

12
2. %

‘/5-1

ik
3. %

V3

16
4.8
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A 0.025 M aqueous solution of a monobasic acid had a freezing point change of
(— 0.060) °C. What 1s the pKa for the acid? Given that molal depression constant K¢of
H>O 15 1.86 K kg mol—1.

(log2=0.3.log3=0.5, log4=0.6)

2% 0.025 M 5208 @l %), s30mrStie 0SS PsotS” S8y (—0.060) °C. & &%
%, pKa Qoéd? O ciwg), e desss Porofo (Ke) 1.86 K kg mol-1
(log2=0.3.log3=0.5.1log4=10.6)

Options :

1.2
1. #

2.9
2. ¢

5.7
3. 0%

jid
4. %
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The dissolved oxygen (DO) value of water sample 1s 8 ppm. The weight of dissolved

oxygen present in 100 kg of water is
w¥ A SS0TS 500D ©8ye(DO) Densd 8 ppm. e)ch 100 kg SE3S 500 oDy,
3820 800 odoH?

Options :

06¢g



08¢
2. ¥

04¢g
3 8

02¢g
4. ®

Question Number : 145 Question Id : 7196501905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Given that E°(Fe™. Fe) =—0.04V and E°(Fe™", Fe) =—0.44V. the value of
E°(Fe™, Fe™) is

g3ge06s E°(Fe’, Fe) =—0.04V 005w E°(Fe™, Fe) =—0.44V, wond
E’(Fe™, Fe™) oends

Options :

0.76 V
1.

—0.40 V
2.8

—0.76 V
3.8

0.40 V
4. %
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Which of the following graphs represents the auto catalysis?

s

1§00 BSJWES &) PO D30 & Y950 NPDKVB?

Options :

4

T

% Reaction

385 %
Time —»
o
1. #
% Reaction
J}da %
Time —>
SPlo
2. B
A
% Reaction
63 %
Time —
Pl
3. %
% Reaction
g %
Time —
Fla
4.
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Which among the following forms cationic micelle after a certain amount of it 1s

dispersed m water?

&1 §ob T3S BAD VOB HOSTEA0LT DI DE D0 DS Y ALV PRISDH

Options :
Sodmm lauryl surfate
WEO%o P0G DSHE
1. %
Urea
OS0rO0%
2. ®

Sodium stearate

V0o PO
3.¢
Cetyl-pyridinium chloride
DES-0GA000 §OE
4. %
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Match the following
Catalyst
A) Pt
B) V)0s
C) Zeigler-Natta
D) Finely divided Fe + Mo

©8 S0l TPEIQ BBVOWGs.
& )90%0
A) Pt
B) V205
C)  esfid-der

D) X&) deresdd Fe + Mo

The correct match is

DO 23¢9

Options :
A B C
11 I IV
1. ®
A B C
IV I II
2. %
A B C
11 II
3.9
A B C
v I 1T

4.%

III

IIT

II

D
1II)
1)
IV)

D

V)

Process

Haber’s process
Polymerisation
Contact process

Hydrogenation

£58(80%)

5200 6D
PS030
0)0;(Contact) 3
TEAE SIS0
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The correct statement about Xenon fluorides XeF», XeFs and XeFg 1s

0TS Fog XeFs, XeFs 000in XeFs O 620 00 Da30€s

e

Options :
all react with S10, at 298 K

298 K &6 ©3), Si0; &5° 565 285500

. ®
all are gases at 298 K
298 K 56 0990 aIP00e)en
2. % i
all are thermodynamically unstable with respect to Xe and F»
Xe 00050 F2 © 95700 Q) &IBE50T Q0S50 a)olI?0N
3. %
all react with water but not at the same rate
Q) VedeS” NG5 2C0)T0W, TR &S WOPy oJfees”
4.
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Match the compounds given in column (I) with their hybridization and shapes given in

column (IT)

FON() & BIZNES Ve FIOD, FUR(II) & IWGES oE Do¥OEGEIN SHOCIL
w3 yBooed® 220000,

Column I Column IT
o I e I1
A) XeFs I) sp>d® — distorted octahedral
spPd® — 28D BoddS PN (WFEarEs)
B) XeOs II) sp’d® - square planar
sp’d? — Hoese WG
C) XeOFs III) sp’-pyramidal
sp— HOES
D) XeF,4 IV) sp’d® — square pyramidal

sp’d? — SeEY HE2ES

The correct match is
XJ@@J&S 2269
Options :

A B [ D

I 111 IV II
1.

/) II IV I

Y III I I

3. %



v I II III

Question Number : 151 Question Id : 7196501911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The order of octahedral crystal field energy for ‘e,” orbitals are

ey woptrdL AN wFardS(wRos) D8 F 38 S5

Options :
Lowered 1n energy by 0.44,
#5044, Scherow

1. ®
Raised in energy by 0.6 A,
3¢5 0.6 A, DBXHEEOW

2.
Raised in energy by 0.4 A,
#8¢5° 0.4 Ay DBXEFoW

3. %

Lowered 1n energy by 0.6 A,
355 0.6 A, ShTPow

Question Number : 152 Question Id : 7196501912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following compounds shows optical isomerism?

&8 800 FSERS 0 DTS S5 PS5 y850°9 DEOeB?

Options :



[C"I‘(CgOz;);]s_

1.

[Cu(NHs)a]*
2. %

[Co(CN)]*~
3. %

[ZnCl4]*
4. %

Question Number : 153 Question Id : 7196501913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

During the course of cationic polymerization, the dimeric intermediate formed from

1sobutylene at the chain propagation step is

SPR0IP08 FOS0E0ES, Yo DS o $¢ DTRG0 Dol S8 80O 2 e
506553 DTSS0S0,

Options :

CHy CHs
I | &
Bl — ¢l —C1
| |
CH; H
1. ®
CH; CH,

I |
H,C—C—CH,—C —CH;

| D

CH;



CH, CH;

I & |
H,C—-C— CH- C—CH,

i I

CH, H
3. %
CH; CH;
I @ |
HC-C -C—-C—-CH;
| | |
H CH; H
4. %

Question Number : 154 Question Id : 7196501914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Glycogen

RSRS)
o
Options :
1s a hetero polysaccharide

o8 3P0 FOFE0G

1. ®

contains only o(1—4) linkages

a(1-54) OFBOI S $)otared

2.8

1s similar to amylopectin but the number of branches are less

DS DEIR TOaols 50y, TRAIES ¥ yosrenD SONGEN0E

contains both a(1—4) and a(1 —6) glycosidic bonds

a(l—>4) 60w a(l1—6) Q?@&E 2WTPOS ¥ GolXold

Question Number : 155 Question Id : 7196501915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Which among the following is “not correct”™?

& 808 IS B DTS TP

Options :

In saponification, esters of fatty acid are subjected to base hydrolysis.

a0y %) NG w03, §'aD3 SBUS Q{Jg) =0 20DF1E Do,

1. ®
Soaps are sodmum or potassium salts of long chain fatty acids.
Qeaoyen, TGS Txvww fo Sy G oIg) Thole Oo@ FErucie
QSETLN
2.8
Soap 1s precipitated in the solution after hydrolysis without adding external
salts.
BOVFNEI0 BT, sT7Irg s5assn SLuDHR0tES Deody WBEDee Welhdeiel
3.
Hydrolysis of fatty acid esters gives soap along with the formation of glycerol.
§aHg S DU B0 Dol Deyes* I HRCESH W YERFOW
4. ®

Question Number : 156 Question Id : 7196501916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are P and Q in the following reaction sequence?

808 5800 SE50S" P 50050 Q € 2dD?

Nold)
- “H. /
CH,CH=CH, HB1 . p C,H, /anhyd. AICI, : D
(CsH5C0),0, maj-or
P

Options :



B Q

CH,CH,CH,Br C H,CH(CH,),
1. ¢
P Q
CH,CH,CH,Br C H.CH,CH,CH,
2. ®
P Q
CH, ¢ HCH, C6HCH(CH,),
Br
3. %
P Q
CH,CHBrCH, C,H.CH,CHB:CH,
4. ®

Question Number : 157 Question Id : 7196501917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following compounds will give iodoform test?

&8 800 o) D30 TS50 SCIPEaFo HOEDD VB
Options :

CH, - ?H —CH;
OH

CsHs — CH, — CH,OH



e
CH;—? - T
OH

CH; — CHy— %‘H — CH,—CH,
OH

Question Number : 158 Question Id : 7196501918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product(s) in the following reactions is/are

&5 808 SBUES” DTS GO YT®) €0 D?

H3C
2 OH (i) 20% H,SO,

CH;, 358-363K

v

(i) O3
(ii1) Zn, H,O

Options :

O
? ,CH,, HCHO
1. ®
O
CHO
H,C
CH,

O O

H.C )M

CH,

2. %



OHC CHO

CH,

4.%

Question Number : 159 Question Id : 7196501919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The compounds X. Y and Z m the following reactions respectively are

i §ob S050e5 X, Y 00080 Z eedyme) a0 SEuire

EIOH LiAlH, (i) Na
COOH ? X > ¥ — s 7
Conc.H,S0, C,H-0C,H; (i1) CH,I

PG A
Options :
0
CH;OH CH3
O Et
2 )
1. %
0
CH,0H CH,OCH,
O Et
2 2
2.V
(6]
CH;
O Bt O gt
? 2



10)
0
H OH \CHa
2 2
W

Question Number : 160 Question Id : 7196501920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

4.

Among the following molecules with the same molecular weight. which one has the

highest boiling point?

& e to YONS §o GO 6 BBOE BrRYASS P50 EDuHotaod.

Options :

Ethyl N, N — dimethyl amine
30O N, N — 82086

1. #
Diethyl amine
GADD JD
2. ®
n — Butyl amine
1 — 20gE3S Wdd
3.¢

tert—Butyl amine



